S E P PE— S
NN S VAN
HETT

Tower Dryer Heat Reclaimer

Models:

1200, 1500, 1800, 2000, 2400, 2500, 2700, 3000, 3500, 4000,
4700, 5000, 6000, 7000, 10,000, 12,000

Installation Manual

PNEG-2016

Version 7.1

Date: 09-29-20

PNEG-2016




All information, illustrations, photos, and specifications in this manual are based on the latest
information available at the time of publication. The right is reserved to make changes at any
time without notice.

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1

Chapter 2

Chapter 3

Chapter 4

Chapter 5

Chapter 6

Chapter 7

Contents

Safety Precautions ..o 5
Safety GUIAEIINES ... ettt e e e e e et e e enean s 5
Cautionary Symbol Definitions..........o.. i e 6
SaAfElY CAULIONS. . ... i et 7
Safety Sign-0ff SNEEL........o e 1"
Duct SPecCifiCatioNs ........ccceiieiii e e e e e e e nnrenns 13
[ T8 o B =T o= 14 o] 1P 13
Heat Reclaimer Starting LOCations .............ciiiiieiiiiinic s e 19
Heat Reclaimer Starting LOCAtiONS.........cooiiiiiii e e 19
Duct INStallation ... e e e e 53
Installing the DUCt Pass-Thru WINAOW ............iiiiiiie et e e e een 53
INStalling the DUCE EIDOWS ... e et e e e e e e e et e e e e eaeeen 56
Installing the OptioNal DUCE COVET..........uuiiiiiiii e e s 57
Assembling the Straight DUCES.........ccooiii e 58
Installing the TOPp DUCE GUAKT ...t 59
Installing the Duct Supports to the Vertical Channels...............ccooooii i 60
Installing the Duct Supports to the Duct ColumMNS............coovniiiiiiii e 62
Enclosure Installation .............o o e e e 63
Installing the Heat Reclaim ROOf Panels............ooooiiii e 63
Installing the Catwalk CliPS ......c.. i e e e e e e e eees 65
Installing the ENClOSUIre SUPPOIS. .......ccovuiiiiii e e e e e e eeees 66
Installing the Vertical SUPPOILS ..........iiiiiiie e e e e e e e et e e e e eees 68
Installing the Short Vertical SUPPOITS. .......coou e e e 69
Installing the Enclosure Horizontal Rail ... e 71
Installing the Enclosure Wall Sheets ... e 72
Installing the Heat Shield Wall for the Ladder Enclosure ...............coooeiiiiiiiiiiiii e 73
Installing the Vertical Supports to the Heat Shield ..............coooiiiiii e, 78
Heat Reclaim Parts...... ... e e e e e s 79
=T CS 30 N1 PP 79
N o 1= T 83
= ol BT 4 1= g oo SRR 84
Limited Warranty — N.A. Grain Products .........c.ccceuiiiiiiiieii s s s s e e e 89

PNEG-2016 Tower Dryer Heat Reclaimer



NOTES

PNEG-2016 Tower Dryer Heat Reclaimer



1 Safety Precautions

Topics Covered in this Chapter

= Safety Guidelines

= Cautionary Symbol Definitions
= Safety Cautions

= Safety Sign-off Sheet

Safety Guidelines

Safety guidelines are general-to-specific safety rules that must be followed at all times. This manual is
written to help you understand safe operating procedures and problems that can be encountered by the
operator and other personnel when using this equipment. Read and save these instructions.

As owner or operator, you are responsible for understanding the requirements, hazards, and precautions
that exist and to inform others as required. Unqualified persons must stay out of the work area at all
times.

Alterations must not be made to the equipment. Alterations can produce dangerous situations resulting in
SERIOUS INJURY or DEATH.

This equipment must be installed in accordance with the current installation codes and applicable regula-
tions, which must be carefully followed in all cases. Authorities having jurisdiction must be consulted
before installations are made.

When necessary, you must consider the installation location relative to electrical, fuel and water utilities.

Personnel operating or working around equipment must read this manual. This manual must be delivered
with equipment to its owner. Failure to read this manual and its safety instructions is a misuse of the
equipment.

ST-0001-4

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

Cautionary Symbol Definitions

Cautionary symbols appear in this manual and on product decals. The symbols alert the user of potential
safety hazards, prohibited activities and mandatory actions. To help you recognize this information, we

use the symbols that are defined below.

Table 1-1 Description of the different cautionary symbols

Symbol

Description

ANDANGER

This symbol indicates an imminently hazardous situation which, if
not avoided, will result in serious injury or death.

This symbol indicates a potentially hazardous situation which, if not
avoided, can result in serious injury or death.

A CAUTION

This symbol indicates a potentially hazardous situation which, if not
avoided, can result in minor or moderate injury.

NOTICE

This symbol is used to address practices not related to personal
injury.

This symbol indicates a general hazard.

This symbol indicates a prohibited activity.

Q0D

This symbol indicates a mandatory action.

ST-0005-2

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

Safety Cautions

Use Personal Protective Equipment

» Use appropriate personal protective equipment:

Eye Respiratory @’ Foot
Protection Protection 4 Protection
Hearing Head Fall
Protection Protection Protection
Hand

Protection

»  Wear clothing appropriate to the job.
* Remove all jewelry.

» Tie long hair up and back.

ST-0004-1

Maintain Equipment and Work Area

* Understand service procedures before doing work. Keep
area clean and dry.

* Never service equipment while it is operating. Keep hands,
feet, and clothing away from moving parts.

» Keep your equipment in proper working condition. Replace
worn or broken parts immediately.

ST-0003-1

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

For Your Safety

3

If you smell gas:
— Do not try to light any appliance.
— Extinguish any open flames.
— Do not touch any electrical switch.

— Immediately call your gas supplier. Follow the gas suppli-
er’s instructions.

— If you cannot reach your gas supplier, call the fire
department.

The use and storage of gasoline and other flammable vapors
and liquids in open containers in the vicinity of this appliance
is hazardous.

Improper installation, adjustment, alteration, service or main-
tenance can cause property damage, injury or death. Read
the installation, operating and maintenance instructions thor-
oughly before installing or servicing this equipment. Installa-
tion and service must be performed by a qualified installer,
service agency or the gas supplier.

N\

ST-0024-1

Follow Safety Instructions

Warning: If the information in the manual is not followed
exactly, a fire or explosion can result, causing property
damage, personal injury or loss of life.

Carefully read all safety messages in this manual and safety
signs on your machine. Keep signs in good condition.
Replace missing or damaged safety signs. Be sure new
equipment components and repair parts include the current
safety signs. Replacement safety signs are available from
the manufacturer.

Learn how to operate the machine and how to use controls
properly. Do not let anyone operate without instruction.

If you do not understand any part of this manual or need
assistance, contact your dealer.

Retain these instructions for future reference.

ST-0025-3

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

Install and Operate Electrical Equipment Properly

» Electrical controls must be installed by a qualified electrician
and must meet the standards set by applicable local codes
(National Electrical Code for the US, Canadian Electric
Code, or EN60204 along with applicable European Direc-
tives for Europe).

» Lock-out power source before making adjustments, cleaning,
or maintaining equipment.

* Make sure all equipment is properly grounded.

ST-0027-4

Install and Operate Equipment Properly

» Before attempting to remove and reinstall the fan blade, con-
tact GSI for the recommended procedure.

ST-0033-2

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

Maintain Equipment and Work Area

« Equipment is intended for the use of grain drying only. Any
other use is a misuse of this equipment.

» The operating instructions in this manual pertain to the
common cereal grains as indicated. When drying any other
grain, contact GSI for additional recommendations.

» Be certain that capacities of auxiliary conveyors are matched
to dryer metering capacities.

* On LP fired units, set pressure regulator to avoid excessive
gas pressure applied to the burner during ignition and opera-
tion. Do not exceed maximum recommended drying
temperatures.

* Equipment has sharp edges that can cause serious injury. To
avoid injury, handle sharp edges with caution and use proper
protective clothing and equipment at all times.

» All guards must be in place before and during operation.
Images of guards removed in this manual are for illustration
purposes only.

* Use caution when working around high-speed fans, gas
burners, augers and auxiliary conveyors which can start
automatically.

* Keep hands, feet, and clothing away from moving parts.
» Do not bypass any safety device or interlock.
» Do not enter the dryer or bin while it is operating.

* Do not operate in an area where combustible material will be
drawn into the dryer.

ST-0034-2

10

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 1: Safety Precautions

Safety Sign-off Sheet

Below is a sign-off sheet that can be used to verify that all personnel have read and understood the safety
instructions. This sign-off sheet is provided for your convenience and personal record keeping.

Date Employee Name Supervisor Name

ST-0007

PNEG-2016 Tower Dryer Heat Reclaimer



NOTES

12

PNEG-2016 Tower Dryer Heat Reclaimer



2 Duct Specifications

Topics Covered in this Chapter

= Duct Specifications

Duct Specifications

The number of duct sections and free-air openings will vary depending on the diameter and capacity of
the dryer.

1. The number of ducts on the diameter will be equal to the number of duct elbow packages
(GT4-1535) and will represent the number of grain columns that support the duct work.

NOTE: Space the ducts as evenly as possible around the diameter of the dryer.

2. The required number of 40” duct sections tall represents the number of straight duct section
assemblies (GT4-1533) that are stacked on each other to give height to the heat reclaim ducts.

3. In order to provide adequate airflow, all 18” free air openings must be removed EXCEPT for the
number that is listed in the table; all 24” louvered doors will remain in the dryer.

NOTE: For a stainless steel heat reclaim package, add "-SS" to the end of the base number.

PNEG-2016 Tower Dryer Heat Reclaimer

13



Chapter 2: Duct Specifications

Table 2-1 Models 1200, 1500, 1800 and 2000 BPH Capacity Duct Specifications

Number of .
Dryer Heat Reclaim _Dryer Numbf:r Number of Straight Numb_er of 18. in.
Capacity Package Diameter of Grain Ducts on Duct Free Air Openings
(BPH) 9 (Ft.) Columns Diameter ucts Required
Sections

12 8 2 3 1
1,200 GT4-1593

12 8 2 3 1

12 8 2 3 1
1,500 GT4-1576 12 8 2 3 1

12 8 2 3 1

12 8 2 4 1
1,800 GT4-1590 12 8 2 4 1

12 8 2 4 1

12 8 2 4 1
2,000 GT4-1577 12 8 2 4 1

12 8 2 4 1

14

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 2: Duct Specifications

Table 2-2 Models 2400 and 2700 BPH Capacity Duct Specifications

Dryer | Lcat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter of Grain Ducts on Straight Ducts Free Air O_pemngs
(BPH) (Ft.) Columns [ Diameter Sections Required
12 8 3 4 1
2,400 GT4-1579 12 8 3 4 1
12 8 3 4 1
2,700 GT4-1644 12 8 3 6 1

Table 2-3 Models 2500 and 3000 BPH Capacity Duct Specifications

Dryer | |icat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter of Grain Ducts on Straight Ducts Free Air Openings
(BPH) (Ft.) Columns [ Diameter Sections Required
T T : |
GT4-1587 18 12 4 4 1
3,000
18 12 4 4 1

PNEG-2016 Tower Dryer Heat Reclaimer

15



Chapter 2: Duct Specifications

Table 2-4 Model 3500 BPH Capacity Duct Specifications

Dryer | Leat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter | of Grain Ducts on Straight Ducts | Free Air Openings
(BPH) (Ft.) Columns [ Diameter Sections Required
18 12 5 4 1
3,500 GT4-1583
18 12 5 4 1

Table 2-5 Models 4000 and 4700 BPH Capacity Duct Specifications

Dryer | ioat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter of Grain Ducts on Straight Ducts Free Air Openings
(BPH) (Ft.) Columns | Diameter Sections Required
18 12 7 6 1
4,000
GT4-1516 18 12 7 6 1
4,700 18 12 7 6 2
18 12 7 6 2

16

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 2: Duct Specifications

Table 2-6 Model 5000 BPH Capacity Duct Specifications

Dryer | Leat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter | of Grain Ducts on Straight Ducts | Free Air Openings
(BPH) (Ft.) Columns [ Diameter Sections Required
24 16 10 6 2
5000 | GT4-1581
24 16 10 6 2

Table 2-7 Models 6000 and 7000 BPH Capacity Duct Specifications

Dryer | |ioat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter of Grain Ducts on Straight Ducts Free Air Openings
(BPH) (Ft.) Columns Diameter Sections Required
24 16 12 6 2
6,000 GT4-1573 o1 5 12 5 >
24 16 12 8 3
7,000 GT4-1544 21 P B 3 3

PNEG-2016 Tower Dryer Heat Reclaimer

17



Chapter 2: Duct Specifications

Table 2-8 Model 10,000 BPH Capacity Duct Specifications

Dryer | Leat Reclaim Dryer Number | Number of Number of Number of 18 in.
Capacity Package Diameter | of Grain Ducts on Straight Ducts | Free Air Openings
(BPH) (Ft.) Columns [ Diameter Sections Required
30 20 16 8 3
10,000 | GT4-1564
30 20 16 8 3

Table 2-9 Model 12,000 BPH Capacity Duct Specifications

Dryer | Leat Reclaim Dryer Number | Number of Number of Number of 18 in.

Capacity Package Diameter of Grain Ducts on Straight Ducts Free Air Openings
(BPH) (Ft.) Columns | Diameter Sections Required
12,000 GT4-1570 30 20 17 9 4

18

PNEG-2016 Tower Dryer Heat Reclaimer




3 Heat Reclaimer Starting
Locations

Topics Covered in this Chapter

= Heat Reclaimer Starting Locations

Heat Reclaimer Starting Locations

These starting locations are the where the ducts will pass through the grain column and where the
enclosure roof flashing is installed. It's advised to install the duct work beginning at the duct pass-thru
point, and work your way up. Once the duct work is installed, begin at the enclosure roof flashing start
point and work your way down.

What You Should Know

The duct pass-thru window MUST pass through the grain column BELOW the divider hopper. The
pass-thru duct window will split the sidewall sheet horizontal seams, therefore you will need to cut the
sidewall sheet above and below the seam. For the duct and enclosure starting locations, reference the
image for your dryer model in the following illustrations in this chapter.

1. Cut a half-circle out of the bottom side of the top sidewall sheets where the duct pass-thru will be
installed.

2. Cut a half-circle out of the top side of the bottom sidewall sheets where the duct pass-thru will be
installed.

3. Install the enclosure roof flashing on the horizontal seam as indicated in the enclosure starting
location illustration for you dryer model.

PNEG-2016 Tower Dryer Heat Reclaimer

19



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-1 1,200 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside

Row #12 (0.0625 wall sheet)tH

.

°
°
AN

Row #13 (0.0625
wall sheet)

~

T

~

Row #14 (0.078
wall sheet)

<.

N

N

Inside

/

Burner

X
)/

(]

<

X

Row #15 (0.078
wall sheet) ———_|

Heat section platform

| channel #4

(10 gauge)
[~ (GT1-0001)

| clip(GT1-0130)

Row #6 (0.078 sheet) (GT1-0406)

™ Heat section door

| Row #7 (0.078 sheet) (GT1-0406)

Reducer walkway support

. Reducer walkway support

beam (GT1-0485)

Row #16 (0.078 wall sheet)

Row #17 (0.078 wall sheet)

Row #18 (0.078 wall sheet)

Row #19 (0.078 wall sheet)

Duct Pass-

Channel #5
- (8 gauge)
(GT1-0035)

|_—Blower supports (GT1-0491)

ESI 490 blower

~~Row #8 (0.078 sheet) (GT1-0408)

[ —Divider hopper

| Row #9 (0.0625 sheet) (GT1-0408)

|[~Blower supports (GT1-0491)

Thru Point |

Row #20 (0.078 wall sheet) +

- Row #10 (0.0625 sheet) (GT1-0408) U

20

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-2 1,200 BPH Heat Reclaimer Enclosure Starting Location

Outside Inside

Roof band

Row #1 (solid wall sheet)

T channel#1 |

feraemn 1 Eave channel (GT1-0450)

Row #2 (solid wall sheet)

Row #1 (top inside sheet) (GT1-0405)

Rolled plenum channels (GT1-0505)

Row #4 (0.078 wall sheet)

Row #2 (0.078 wall sheet) (GT1-0406)

| Channel#2 |
(10 gauge)
(GT1-0001) |

Row #5 (0.078 wall sheet)

Grain exchanger

Row #6 (solid wall
sheet w/ clean outs)

Row #3 (0.078 wall sheet) (GT1-0406)

Row #7 (solid wall sheet)

Row #4 (0.078 wall sheet) (GT1-0406)

Outside catwalk
Row #8 (solid wall sheet)

Channel #3

-~ (10 gauge)
(GT1-0001)

Row #9 (0.0625 wall sheet)

Row #10 (0.0625 wall sheet)
Enclosure |

Start Point T t
Row #11 (0.0625 wall sheet)t + T

Row #5 (0.078 wall sheet) (GT1-0407)

Row #6 (0.078 wall sheet) (GT1-0406)
Row #12 (0.0625 wall sheet)

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-3 1,500 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside

Inside catwalk

Inside

Row #12 (solid wall sheet)

Row #13 (0.0625 wall sheet)

|

Row #14 (0.0625 wall sheet) -

|

Row #15 (0.0625 wall sheet)

L

|

Row #6 (0.078 wall sheet) (GT1-0406)

Row #7 (0.078 wall sheet) (GT1-0406)

t

Row #16 (0.0625 wall sheet)t

R

=

v

T

Row #17 (0.0625 wall sheet)

s

S

=

s

Burner

~Row #8 (0.078 sheet) (GT1-04086)

RoodyooReed

e

R

Heat section door

D

w

—Row #9 (0.078 sheet) (GT1-04086)

Row #19 (0.0625 wall sheet)

Row #18 (0.0625 wall sheet) X\

|

Heat section platform
Row #20 (0.0625 wall sheet)

L

Reducer walkway
~ support clip (GT1-0130)

Reducer walkway
support beam (GT1-0485)

t

t

|

Row #21 (0.0625 wall sheet)

|

Row #22 (0.078 wall sheet)
Duct Pass-

“cnannel #s|

(8 gauge)
(GT1-0035)

~I~~ Blower supports (GT1-0491)

t

QSL 490 blower

t

~ Row #10 (0.0625 sheet) (GT1-0408)

| Divider hopper

Row #11 (0.0625 sheet)
(GT1-0408)

Thru Point 1
Row #23 (0.078 wall sheet) 1

Row #24 (0.078 wall sheet) {

- ™ Blower supports (GT1-0491)

Row #12 (0.0625 sheet) U

(GT1-0408)

22

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-4 1,500 BPH Heat Reclaimer Enclosure Starting Location

Outside Roof band

Row #1 (solid wall sheet)

Row #2 (solid wall sheet)

Row #3 (0.078 wall sheet)

Row #4 (0.078 wall sheet)

Row #7 (0.078 wall sheet)

Row #8 (0.078 wall sheet)

Outside catwalk
Row #9 (0.078 wall sheet)

Row #10 (solid wall sheet)

Enclosure Row #11 (solid wall sheet)

4 (10 gauge) |

Row #6 (0.078 wall sheet);

Inside

Channel #1

Eave channel (GT1-0028)

(GT1-0001)

Row #1 (top inside sheet) (GT1-0405)

Rolled plenum channels (GT1-0008)

Row #2 (0.078 wall sheet) (GT1-0406)

Channel #2
[ (10 gauge) |
(GT1-0001)

Row #3 (0.078 wall sheet) (GT1-04086)

Channel #3
7 (10 gauge) T
(GT1-0001)

Row #4 (0.078 wall sheet) (GT1-0406)

Grain exchanger

Row #5 (0.078 wall sheet w/ clean out) (GT1-0407)

Start Point

Row #12 (solid wall sheet) \ 1

I( Row #6 (0.078 wall sheet) (GT1-0406)

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-5 1,800 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside

Row #20 (0.0625
wall sheet)

Row #21 (0.0625

~

wall sheet)

< Heat section platform :|

Row #22 (0.0625
wall sheet)

Row #23 (0.0625 wall sheet)

Row #24 (0.0625 wall sheet)

Row #25 (0.0625 wall sheet)

Channel #6

(GT1-0001)

T (10 gauge) T

t- Channel #7 —
(40" 8 gauge)
| (GT1-0205) |

Row #26 (0.0625 wall sheet)

Row #27 (0.078 wall sheet)

Row #28 (0.078 wall sheet)

Row #29 (0.078 wall sheet)

Duct Pass-

Channel #8

T (Bgauge) T

(GT1-0035)

Inside

Row #10 (0.078 wall sheet) (GT1-0406)

Reducer walkway support clip (GT1-0130)

Reducer walkway support beam (GT1-0486)

Burner

I~ Heat section door

Row #11 (0.078 sheet) (GT1-0406)

|- Row #12 (0.078 sheet) (GT1-0406)

Reducer walkway support clip (GT1-0130)

Reducer walkway support beam (GT1-0486)

Il —Blower supports (GT1-0491)

M

—

0 0
0

00 00
8

8o 8o
8

90 Q20

QSL 542 blower

- Divider hopper (GT1-0908)

= Row #13 (0.0625 sheet) (GT1-0408)

I — Row #14 (0.0625 sheet) (GT1-0408)

™ Blower supports (GT1-0491)

Thru Point
Row #30 (0.078 wall sheet)

I

I3

Row #15 (0.0625 sheet)
(GT1-0408)

l

24

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-6 1,800 BPH Heat Reclaimer Enclosure Starting Location

Outside Inside

I 11

T T T Row #6 (0.078 wall sheet) (GT1-0406)

Row #12 (0.078 wall sheet)

Channel #4
T (10 gauge) | 1C
(GT1-0001)

1 “T

4 1 {:/ Grain exchanger

Row #13 (0.078 wall sheet)

Row #14 (solid wall sheet
w/ clean out)

T 1 tRow #7 (0.078 wall sheet) (GT1-0406)

Row #15 (solid wall sheet)

Bottom outside catwalk | Row #8 (0.078 wall sheet) (GT1-0406)

Row #16 (solid wall sheet)

Row #17 (0.0625 wall sheet)

Channel #5
T(10 gauge) T iC
(GT1-0001)
Row #18 (0.0625 wall sheet) T T
Enclosure H Row #9 (0.078 wall sheet) (GT1-0406)
Start Point 1 1
Row #19 (0.0625 wall sheet) T T T+ 1C

Row #10 (0.078 wall sheet) (GT 1-0406)
Row #20 (0.0625 wall sheet)

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-7 2,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside Inside

Row #20 (solid wall sheet)++

Row #10 (0.078 wall sheet) (GT1-0406)

Row #21 (0.0625 wall sheet)t -

|
T

| channei #s
| (10 gauge) |
(GT1-0001)

Row #22 (0.0625 wall sheet)

Row #11 (0.078 wall sheet) (GT1-0406)

"N

Row #23 (0.0625 wall sheet) ¢

<

Burner

~—Heat section door

Row#24(0.0625 || — ||

wall sheet) — |

=
e

s
R

Row #12 (0.078 sheet) (GT1-04086)

=

X

e

Reducer walkway
support clip (GT1-0130)

Reducer walkway
support beam (GT1-0486)

s

Row#25(0.0625 || —7
wall sheet)

I
T
|
T

Row #26 (0.0625
wall sheet) [ -

|
T
|
T

—Row #13 (0.078 sheet) (GT1-0406)

Heat section platform Channel #7
-+ (8 gauge) +
(GT1-0035)

Blower supports (GT1-0491)

I
T
|
T

I
T
|
T

Row #27 (0.0625 wall sheet)

ESI 542 blower

Row #28 (0.0625 wall sheet)

|_—Divider hopper (GT1-0908)

Row #29 (0.078 wall sheet){ + +

Duct Pass- ] |
Thru POiI‘It __C(gagnanueglz)s__
Row #30 (0.078 wall sheet); +**"

~Row #14 (0.0625 sheet) (GT1-0408)

—Row #15 (0.0625 sheet) (GT1-0408)

Row #31 (0.078 wall sheet)| - 1 Blower supports (GT1-0491)

l

Row #16 (0.0625 sheet) U
(GT1-0408)

Row #32 (0.078 wall sheet); + T

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-8 2,000 BPH Heat Reclaimer Enclosure Starting Location

Outside

Row #12 (0.078 wall sheet)

Row #13 (0.078 wall sheet)

Row #14 (solid wall
sheet w/ clean out)

Row #15 (solid wall sheet)

Outside catwalk #2

Row #16 (solid wall sheet)

| (10 gauge)_|
(GT1-0001)

| channel#4| |

Inside

|

{Row #6 (0.078 wall sheet) (GT1-0406)

|

_/Grain exchanger

1Row #7 (0.078 wall sheet) (GT1-0406)

1 Row #8 (0.078 wall sheet) (GT1-0406)

T +i
Row #17 (0.0625 wall sheet) i £ H
[Channel #5]| i
| (10 gauge) |
Row #18 (0.0625 wall sheet) - {12 95,99
Enclosure H Row #9 (0.078 wall sheet) (GT1-0406)
Start Point

Row #19 (0.0625 wall sheet)

Row #20 (0.0625 wall sheet)

Row #10 (0.078 wall sheet) (GT1-0406)

PNEG-2016 Tower Dryer Heat Reclaimer

27



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-9 2,400 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside Inside

Heat section door

N\

Row #24 (0.0625 wall sheet)

Row #25 (0.0625 Row #12 (0.078 sheet) (GT1-0406)

.

wall sheet)
Reducer walkway support
’ 4 clip (GT1-0130)
Row #26 (0.0625 Reducer walkway support
wall sheet) T channel #7] beam (GT1-0487)

1 (8gauge) |
(GT1-0035)

Heat section platform -Row #13 (0.078 sheet) (GT1-0406)

Row #27 (0.0625 wall sheet) Burner

|
T

| Row #14 (0.078 sheet) (GT1-0406)

T

Reducer walkway support

Row #28 (0.0625 wall sheet) T
T clip (GT1-0130)

Row #29 (0.0625 wall sheet)t+

I
T

Reducer walkway support
beam (GT1-0487)

Row #30 (0.0625 wall sheet)

—Row #15 (0.078 sheet) (GT1-0406)

Channel #38
| @ gauge) |
|(@T1-0035) |

Row #31 (0.0625 wall sheet); +

Blower supports (GT1-0491)

Row #32 (0.0625 wall sheet)t 1

™~Row #16 (0.0625 sheet) (GT1-0408)

Row #33 (0.078 wall sheet) ~Divider Hopper

Duct Pass-
Thru Point

T channel #9|

Row #34 (0.078 wall sheet) 1 1 ©gauwe 1 ¢

(GT1-0035)

Row #17 (0.0625 sheet) (GT1-0408)

°
80

Bo
%90
¢

°1.7.7.1°. T~ Blower supports (GT1-0491)

S0
8o
%0

Row #35 (0.078 wall sheet){ +

Row #36 (0.078 wall sheet)t 1

QSL 600 blower

Row #18 (0.0625 sheet) |_|

(GT1-0408)

28

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-10 2,400 BPH Heat Reclaimer Enclosure Starting Location

Outside
Row #12 (0.078 wall sheet)

Inside

Row #6 (0.078 wall sheet) (GT1-0406)

Row #13 (0.078 wall sheet)

T channel#4 |
(10 gauge)

Middle outside catwalk

Row #14 (0.078 wall sheet)

Row #15 (0.078 wall sheet)

Row #18 (solid

Row #16 (0.078 wall sheet)

Row #17 (0.078 wall sheet)

" (GT1-0001) ]

Row #7 (0.078 wall sheet) (GT 1-0406)

Rolled plenum channels (GT1-0505)

Row #8 (0.078 wall sheet) (GT1-0406)

Channel #5
(10 gauge)
(GT1-0001)

wall sheet w/ clean out)

Grain exchanger

Row #9 (0.078 wall sheet) (GT1-0406)

Row #19 (solid wall sheet)

Bottom outside catwalk

Row #20 (solid wall sheet)

Row #21 (0.0625 wall sheet)

Enclosure

Row #22 (0.0625 wall sheet)

Row #10 (0.078 wall sheet) (GT1-0406)

T channel#
(10 gauge)
T@T1-0001) T

Start Point

Row #23 (0.0625 wall sheet)t 1 T

Row #24 (0.0625 wall sheet)t + T

, Row #11 (0.078 wall sheet) (GT1-0406)

Row #12 (0.078 wall sheet) (GT1-0406)

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-11 2,500 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

. Outside
Row #12 (solid

wall sheet)

Row #13 (0.0625| |
wall sheet)

Bottom outside
catwalk

Row #14 (0.0625 wall sheet)

Row #15 (0.0625 wall sheet)

Row #16 (0.0625 wall sheet)

Row #17 (0.0625 wall sheet)

Row #18 (0.0625 wall sheet)

Row #19 (0.0625 wall sheet)

Row #20 (0.0625

(10 gauge) T
(GT1-0001)|

Channel #4

T
T

1 (10 gauge) 1

Channel #5

(GT1-0001)

Inside

1 |Row #6 (0.078 wall sheet) (GT1-0193)

iC

| | Row #7 (0.078 wall sheet) (GT1-0193)

T1€

| [Row #8 (0.078 wall sheet) (GT1-0193)

wall sheet)

Row #21 (0.0625

prm——

wall sheet)

Row #22 (0.0625 wall sheet)

Row #23 (0.078 wall sheet)

Row #24 (0.078 wall sheet)

Row #25 (0.078 wall sheet)
Duct Pass-

| Channel #6 |

| ©T1-0205) |

(8 gauge 40")

!

T (8 gauge) T
1(GT1-0035)

T
t

T
t

Channel #7

/Row #9 (0.078 wall sheet) (GT1-0193)

Row #10 (0.078 wall sheet) (GT1-0193)
c GT1-0130

Row #11 (0.0625 wall sheet)

GT1-0131 (GT1-0194)
c GT1-0868
GT1-0165
GTioze|~ T T T T 7

c

Row #12 (0.0625
— wall sheet)

(GT1-0194)

Thru Point
Row #26 (0.078 wall sheet)

|

GT1-0185 | |
Row #13 (0.0625 wall sheet) U L
(GT1-0194)

30

PNEG-2016 Tower Dryer Heat Reclaimer

ESI 402 blowers (3)




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-12 2,500 BPH Heat Reclaimer Enclosure Starting Location

. Outside
Row #12 (solid

Inside

wall sheet)

Row #13 (0.0625] |
wall sheet)

Bottom outside
catwalk

Row #14 (0.0625 wall sheet)

Row #15 (0.0625 wall sheet)
Enclosure

Channel #4
(10 gauge) |
{@T1-0001)[

| |Row #6 (0.078 wall sheet) (GT1-0193)

|| Row #7 (0.078 wall sheet) (GT1-0193)

Start Point Sl

Row #16 (0.0625 wall sheet)

Row #17 (0.0625 wall sheet)

Row #18 (0.0625 wall sheet)

Row #19 (0.0625 wall sheet)

Row #20 (0.0625

Channel #5
(10 gauge) 1
(GT1-0001)

| |Row #8 (0.078 wall sheet) (GT1-0193)

Row #9 (0.078 wall sheet) (GT1-0193)

wall sheet)

Row #21 (0.0625

Row #10 (0.078 wall sheet) (GT1-0193)

wall sheet)

Row #22 (0.0625 wall sheet)

Row #23 (0.078 wall sheet)

Row #24 (0.078 wall sheet)

Row #25 (0.078 wall sheet)

Row #26 (0.078 wall sheet)

8 gauge 40°)

| channel#s |

| (©T1-0208) |

Channel #7

dic GT1-0130
Row #11 (0.0625 wall sheet)
GT1-0131 (GT1-0194)
]E | 3
GT1-0868
PALT [ G
1L /4 A Row #12 (0.0625
o) % o — wall sheet)
2 . (GT1-0194)
>
ESI 402 blowers (3)
\| GT1-1222 1
\
GT1-0186 L
GT1-0185 ‘ |
Row #13 (0.0625 wall sheet) U {
(GT1-0194)

PNEG-2016 Tower Dryer Heat Reclaimer

31



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-13 2,700 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

post.

Enclosure support bracket
(GT1-2560)

Outside

NOTE: Attach the enclosure support bracket between the enclosure vertical rail and platform handrail

Row #28
(0.0625 wall sheet)

Row #29

\
[0]
44444;4/

000

000

b (0.0625 wall sheet)

Row #30

Fan style platform

Duct Pass-
Thru point

Row #32 (0.0625 wall sheet)

(0.0625 wall sheet)

Row #31 +‘

(0.0625 R
wall sheet)!

‘¢4+—T4*4t L+
H S

——

i

——

S
il
Row #33 (0.0625 wall sheet)

Channel #9 (8 GA)
(GT1-0035)

—f

Row #34 (0.0625 wall sheet)

e

A
i

|
.
Row #35 (0.0625 wall sheet) |

1

|
Row #36 (0.0625 wall sheet): -
L‘t i

[“
i
Row #37 (0.078 wall sheet) | -

|
I

/ Heat section door

Row #14 (0.078 sheet)
| (GT1-0406)
/ Channel #8 (8 GA)

(GT1-0035)
iC
1
H
P
c

Inside

Reducer walkway support clip
(GT1-0130)
Reducer walkway support beam
(GT1-0487)

| _— Row #15 (0.078 sheet)
(GT1-0406)

Burner

| _— Row #16 (0.078 sheet)
(GT1-0406)

Reducer walkway support clip
— (GT1-0130)

Reducer walkway support beam
(GT1-0487)

Blower supports
— (GT1-0491)

|
T
Row #38 (0.078 wall sheet) L‘
T

Channel #10 (8 GA) —
(GT1-0035) \

Row #39 (0.078 wall sheet) >‘
{
f
Row #40 (0.078 wall sheet) \‘

L L

% Row #20 (0.0625 sheet)

4 [c

—— Row #17 (0.078 sheet)
(GT1-0406)

| — Divider hopper

™ Row #18 (0.0625 sheet)
(GT1-0408)

— Row #19 (0.0625 sheet)
(GT1-0408)

j Blower supports
— (GT1-0491)

ESI 600 blower

(GT1-0408)

32

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-14 2,700 BPH Heat Reclaimer Enclosure Starting Location

Outside
Row #12

Row #13

(0.078 wall sheet)

Outside fan style catwalk

Row #16 (0.078 wall sheet)

x|

b Row #18 (solid

with cleanout)

4 Row #19

(solid wall sheet)

Outside fan style catwalk

Row #21 (0.0625 wall sheet) \\

Inside

(0.078 wall sheet) | |

 (0.078 wall sheet) |+

Row #14—_||

\

Row #15 (0.078 wall sheet) \ i

+1 Row #6 (0.078 wall sheet)

(GT1-0406)

Channel #4 (10 GA)
(GT1-0001)

11 Row #7 (0.078 wall sheet)

(GT1-0406)

Rolled plenum channel
(GT1-0505)

Row #17 (0.078 wall sheet)

%\. \

wall sheet/ 1

(solid wall sheet) | ||
Row #20 —+

+1Row #8 (0.078 wall sheet)

(GT1-0406)

Channel #5 (10 GA)
(GT1-0001)

Grain exchanger

is Row #9 (0.078 wall sheet)

(GT1-0406)

Row #22 (0.0625 wall sheet) ﬁ 1
Enclosure Start Point |

T1Row #10 (0.078 wall sheet)

(GT1-0406)

:/ Channel #6 (10 GA)

(GT1-0001)

Row #23 (0.0625 wall sheet) 1 +

Row #24 (0.0625 wall sheet) +

Row #11 (0.078 wall sheet)
(GT1 0406)

Row #25 (0.0625 wall sheet)| |
Row #26 (0.0625 wall sheet)t

Row #27 (0.0625 wall sheet)

Row #28 (0.0625 wall sheet)t +

T Row #12 (0.078 wall sheet)

(GT1-0406)

Channel #7 (10 GA)
(GT1-0035)

Row #13 (0.078 wall sheet)
(GT1-0406)

Row #14 (0.078 wall sheet)
(GT1 -0406)

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-15 3,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside

Row #21 (0.0625 wall sheet) | |

Row #22 (0.0625 wall sheet)

Row #23 (0.0625 wall sheet)

Row #24 (0.0625 wall sheet)t {

Row #25 (0.0625

wall sheet)

Row #26 (0.0625 | |
wall sheet)

Row #27 (0.0625
wall sheet)

Row #28 (0.078
wall sheet)

Row #29 (0.078 wall sheet)
Duct Pass-

!

Channel #6
(10 gauge)]
(GT1-0001)

T

X

X

v

K

<

K

T

T

=

T

e

K

X

I

Inside

Row #10 (0.078 wall sheet) (GT1-0193)

Row #11 (0.078 wall sheet) (GT1-0193)

| Channel #7_|

8 gauge-40"

1(GT1-0205)

!

Tenannei #8|

| (8 gauge) |
(GT1-0035)

Thru Point
Row #30 (0.078 wall sheet)

Row #31 (0.078 wall sheet)

T

|

I
/Row #12 (0.078 wall sheet) (GT1-0193)

N

GT1-0130
GT1-0131 Row #13 (0.0625 wall sheet) (GT1-0194)
GT1-0868
GT1-0165 | :
GT1-0166 Jﬂj k) /Y
>
&
\ i 7
. VA Y .
NI ! | Row #14 (0.0625
’*% . o wall sheet) (GT1-0194)
G
) QSL 402 blowers (3)
. off / )| 6T1-1222 |
: |
GT1-O186| ‘ | ‘
GT1-0185
Row #15 (0.0625 wall sheet) (GT1-0194) L

34

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-16 3,000 BPH Heat Reclaimer Enclosure Starting Location

Outside

Row #12 (0.078 wall sheet)

Row #13 (0.078 wall sheet)

Row #14 (solid wall sheet w/ clean out)

Row #15 (solid wall sheet)

Row #16 (solid wall sheet)

Bottom outside catwalk

Row #17 (0.0625 wall sheet)

Row #18 (0.0625 wall sheet)

Enclosure

| Channel #4 |
(10 gauge)

| (@T1-0001) |

| Channel #5 |
(10 gauge)

| @T1-000m) | |

Inside

Row #6 (0.078 wall sheet) (GT1-0193)

T Grain exchanger

1 Row #7 (0.078 wall sheet) (GT1-0193)

c

1 Row #8 (0.078 wall sheet) (GT1-0193)

T Row #9 (0.078 wall sheet) (GT1-0193)

Start Point

Row #20 (0.0625 wall sheet)

PNEG-2016 Tower Dryer Heat Reclaimer

35



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-17 3,500 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside

Row #24 (0.0625 wall sheet)

Row #25 (0.0625 wall sheet)

Row #26 (0.0625 wall sheet)

Row #27 (0.0625 wall sheet)

Row #28 (0.0625 wall sheet)

Row #29 (0.0625 wall sheet)

Row #30 (0.0625
wall sheet)

Row #31 (0.0625

wall sheet)

Row #32 (0.078
wall sheet)

Row #33 (0.078 wall sheet)

Row #34 (0.078 wall sheet)

Row #35 (0.078 wall sheet)
Duct Pass-

Channel #7
+4-(10 gauge) +
(GT1-0001)

D

Inside

Row #12 (0.078 wall sheet) (GT1-0193)

Row #13 (0.078 wall sheet) (GT1-0193)

Row #14 (0.078 wall sheet) (GT1-0193)

Row #15 (0.078 wall sheet) (GT1-0193)

Channel #9
(8 gauge) T
(GT1-0035)

Thru Point
Row #36 (0.0625 wall sheet)

'I° GT1-0130
GT1-0131
T 1
1 ';_ ___________ e el -
GT1,0165 | oT1.0868 | Row #16 (0.0625 wall sheet) !
¢ /6T1.0166.11 (GT1-0194)
B /[El GT}1-0189 3|
S,
€ S
s, )
. A Row #17 (0.0625 wall sheet)
S Y, :  (GT1-0194)
%
C
C
. 'GT|1'°189"| QSL 445 blower
GT1-0186 _L I
GT1-0185 | |
Row #18 (0.0625 wall sheet) U I_I
C (GT1-0194)

36

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-18 3,500 BPH Heat Reclaimer Enclosure Starting Location

Outside

Row #24 (0.0625 wall sheet) 1T T

Row #25 (0.0625 wall sheet)
Enclosure

Inside

Row #12 (0.078 wall sheet) (GT1-0193)

" [ channer#7 |
+4-(10 gauge) +
(GT1-0001)

Start Point
Row #26 (0.0625 wall sheet)

Row #27 (0.0625 wall sheet)

Row #28 (0.0625 wall sheet)

Row #13 (0.078 wall sheet) (GT1-0193)

Row #29 (0.0625 wall sheet)

Row #14 (0.078 wall sheet) (GT1-0193)

Row #30 (0.0625
wall sheet)

D

Row #31 (0.0625
wall sheet)

Row #32 (0.078
wall sheet)

Row #33 (0.078 wall sheet)

Channel #9
T (8 gauge) T
(GT1-0035)

Row #34 (0.078 wall sheet)

Row #35 (0.078 wall sheet)

|

Row #36 (0.0625 wall sheet)

iC
Row #15 (0.078 wall sheet) (GT1-0193)
'I° GT1-0130
GT1-0131
1 ';_ ___________ J'_ _______________ _;-
GT1,0165 | ST1-0868 | Row #16 (0.0625 wall sheet) '
£ /oT1.0166L (GT1-0194)
L T GT}1-0189 3|
&
c %
s, )
. S i Row #17 (0.0625 wall sheet)
NN Y ;  (GT1-0194)
%
C
rC
. o 1 asL 445 blower
GT1-0186 1 I
GT1-0185 |
Row #18 (0.0625 wall sheet) U H

+ +{c (GT1-0194)

PNEG-2016 Tower Dryer Heat Reclaimer

37



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-19 4,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

OUTSIDE INSIOE

ROW #28 (0.0625 WALL SHEET)

ROW #14 (0.078 WALL SHEET)
GT1-0193

ROW #29 (0.0625 WALL SHEET)

C

TCHANNEL #8T ‘[
(10 GA)

ROW #30 (0.0625 WALL SHEET) 1 4 110001

t
[m]

ROW #15 (0.078 WALL SHEET)
GT1-0193

ROW #31 (0.0625 WALL SHEET)

\
t
t

[}

ROW #32 (0.0625 WALL SHEET)

|
t
t
[m]

ROW #16 (0.078 WALL SHEET)
GT1-0193

ROW #33 (0.0625 WALL SHEET)

T X
XY

I

iC

X
N

ROW #34 (0.0625 WAL| SHEETY

s
X

ROW #17 (0.078 WALL SHEET)
GT1-0193

s X
KXY

ROW #35 (0.0625 WAL

iC

CHANNEL #9 6r1-01%
T (06T
GT1-0001 /_ ari-0131
: i “J /_ 1 ' !
_ is + T ‘ Lo _ _ _ __ T N
N 1 1 | | |
ROW #18 (0.0625 WALL SHEET)
[ 1068 [ T1-0194 '
0W #36 (0.078 WALL SHEET)T - T 1€ GT1-0165
4 14 S B /[IEI GTi-0189 '-|
WALL SHEET) T T
+ +i &
§
s is ) .
o S | ROW #19 (0.0625 WALL SHEET)
is is o o[ GT1-0194
I ’ 6>/ | /
=+ —=+ \‘70) °
[CHANNEL #10)
ROW #38 (0.078 WALL SHEET) t — (g gay T 1C o 0
| GT1-0035 |
4 4 &,
C o
is is .
ROW #39 (0.078 WALL SHEET) T + o o | ofF / o| oo | OSL 445 BLOWER
Duct Pass- + 1 : |
[ |
. il ,
Thru Point mym~ | |
1 1 GT1-0185
ROW #40 (0.0625 WALL SHEET) ROW #20 (0.0625 WALL SHEET)
+ + GT1-0194

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-20 4,000 BPH Heat Reclaimer Enclosure Starting Location

NaAdd4= =X
ROV #12 0.078 WALL SHEET) - + CTITLTIL=Z—
m—= Mmoo
o 1 1 > —=HO
. = x>
1 | JRow #6 0.078 WALL SHEET) HLE =T O
G11-0193 Zmgomnr D
RO #13 (0.078 WALL SHEET){ + T+1C o 4>m
o =M\ 70
+ + sjus] =)
O _gogm--
1 is MMOE TN
m> - O
. VA==
[CHANNEL #4 MVM=—==Z0
ROW #14 (0.078 WALL SHEET --5(1:90331)—- iC (=] A:_> % & —
=Z7~ o=
T 71 =54
— —
1 1 lrov (gi?zgl;;u SHEET) SoaMmo
— =>m
+ + om>-H
I o =N
- 1 1l O RN >
70 ]
<rH=HHXN=
T T ROLLED PLENUM CHANNEL mx=z- >
611-0008 o R A
+ + AW AN
- Ox>» I
1 1 <—Om
=HCE S
o te =
MIODLE OUTSIOE CATWALK e = |
I 1 2GS
——
+ - ROV #8 (0.078 WALL SHEET) m_mo
G11-0193 T -
T, a TR o
CHANNEL #5 pamg
+ ot 1C £
6T1-0001 L g
RON #17 (0.078 WALL SHEET T ) =
1 1 GRAIN EXCHANGER
RO #18 (SOLID WALL SHEET W/CLEANDUT ) r E/
4

1 [T~ TRON #9 (0.078 WALL SHEET)
GT1-0193

ROW #19 (SOLID WALL SHEET)X + i

ROW #20 (SOLIO WALL SHEET

ROW #10 (0.078 WALL SHEET)
GT1-0193

+ +1€
ROW #21 (0.0625 WALL SHEET) -+ +
ROV 422 (ONQB -HCHANNEL 461 1C
€10 GA)
BOTTOM OUTSIDE CATWALK T Gr-o00t -
+ - 1ROV 411 €0.078 WALL SHEET)
GT1-0193
+ +1€
RON 423 (0.0625 WALL SHEET)t + +
ROW #24 (0.0625 WALL SHEET)} T1€
+ T 1ROV 12 (0.078 WALL SHEET)
GT1-0193
ROW #25 (0.0625 WALL SHEET)} T1C
Start Point
CHANNEL #7
RON #26 (0.0625 WALL SHEET)t —+ (10 GA) + 1€
GT1-0001
+ I 1ROV #13 (0.078 WALL SHEET)
GT1-0193
ROW #27 (0.0625 WALL SHEET)t + +1C

ROW #28 (0.0625 WALL SHEET)T -

T #14 (0.078 WALL SHEET)
GT1-0193

PNEG-2016 Tower Dryer Heat Reclaimer

39



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-21 4,700 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

OUTSIDE INSIDE

ROW #36 (0.0625 WALL SHEET

£ _| [ROW #18 (0.078 WALL SHEET)
CHANNEL#10 GT1-0193

, weel L 8o L
ROW #37 (0.0625 WALL SHEE oo T1C

C

|
T
|
T

|
T
|
T

|
T
|
T

ROW #38 (0.0625 WALL SHEET

ROW #19 (0.078 WALL SHEET)
GT1-0193

o

o

AN
N

ROW #39 (0.0625 WAUL [SHEET

M

K

T
Navs
7

sy

m

>

=

%)

—

pum)

o

=

=1

a

=

bl

AN

ROW #40 (0.0625 WAL |SHEET

REDUCER WALKWAY
SUPPORT CLIP
(GT1-0130)

ROW #20 (0.078 SHEET)
GT1-0193

|
T

m

T

ROW #41 (0.0625 WALL SHEHT) \\\

; S -+ -1C
I: . = \ Fmmm mm e — - — — — — —
°IT TCHANNEL#11T | REDUCER WALKWAY BLOWER SKIRTING
(8 GA) 40" l ™ SUPPORT BEAM (CT1-0211)
/ T GT1-0205 T | (GT1-0218)
HEAT SECTION PLATFORM 1 1 DIVIDER
ROW #42 (0.078 HOPPER 4
WALL SHEET) + +1c 4
T T ]H USL 490 BLOWER
ROW #43 (0.078 WALL SHE —+ +1C
Duct Pass- | ™ ROW #2] (0.0625 SHEET)
. GT1-0194
Thru Point 1 1
CHANNEL#12
ROW #44 (0.078 WALL SHEET) 1 —+ G(T?_SS;S + 1C ROW #22 (0.0625 SHEET)
| GT1-0194
T +1C
BLOWER CROSSBEAM CLIP
ROW #45 (0.078 WALL SHEET) + —+ —+ - (GT1-0186)
s __l )
s 1 \ BLOWER SUPPORT CLIP
\ (GT1-0185)
ROW #46 (0.078 WALL SHEET) T —+ T ROW #23 (0.0625 SHEET)
GT1-0194

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-22 4,700 BPH Heat Reclaimer Enclosure Starting Location

BOTTOM DUTSIDE CATWALK

Enclosure

OUTSIDE

ROW #24 (SOLID WALL SHEET)

0N #25 (0.0625 WALL SHEET

ROW #27 ¢0.0625 WALL SHEET)

ROW #28 (0.0625 WALL SHEET

ROW #29 (0.0625 WALL SHEET

TCHANNEL #7T

(10 GA)

[ GT1-0001 T

INSIDE

ROW #12 €0.078 WALL SHEET)
GT1-0193

iC

ROW #13 (0.078 WALL SHEET)
GT1-0195

ROLLED PLENUM CHANNEL
GT1-0008

tROW #14 (0.078 WALL SHEET)
Gr1-0193

iC

Start Point

ROW #30 (0.0625 WALL SHEET

ROW #31 (0.0625 WALL SHEET Y

ROW #32 (0.0625 WALL SHEET

ROW #33 (0.0625 WALL SHEET

ROW #34 (0.0625 WALL SHEET

ROW #35 (0.0625 WALL SHEET)

ROW #36 (0.0625 WALL SHEET

TCHANNEL #8T

(10 GA)
[ GT1-0001 7

TCHANNEL #9T

(10 GA)

[ GT1-0001 T

ROW #15 (0.078 WALL SHEET)
GT1-0193

iC

iC

| |ROW #16 (0.078 WALL SHEET)
GT1-0193

C

C
0V #17 (0.078 WALL SHEET)
GT1-0193

C

0w #18 (0.078 WALL SHEET)
GT1-0193

PNEG-2016 Tower Dryer Heat Reclaimer

41



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-23 5,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

OUTSIDE INSTDE

ROW #28 (0.0625 WALL SHEET)
+ <+ ROW #14 (0.078 WALL SHEET)
GT1-0289

ROW #29 (0.0625 WALL SHEET

iC

JoraneLis | |-
(10 GA)
| cTi-o001 |

ROW #30 (0.0625 WALL SHEET)

ROW #15 (0.078 WALL SHEET)
GT1-0289

ROW #31 (0.0625 WALL SHEET

)
t
t

o

ROW #32 (0.0625 WALL SHEET

L
+
+

™

T CHANNEL#QT T ROW #16 (0.078 WALL SHEET)
GT1-0289

s
t
=)
=]
i
=}
§
!
t

2

ROW #33 (0.0625 WALL SHEET

s
t
()

s

R

ROW #34 (0.0625 WALL SHEET

7/‘
i ¥ | ROW #17 (0.078 WALL SHEET)
6T1-0289

’/‘ ROV #18 (0.078 WALL SHEET)

ROW #35 (0.0625 WALL| SHEET ‘/, ' Gr1-0269
: / / GT1-0130
7 AL / GT1-1139

ROV 436 (0.0625 WALl SHeeT) | | 1 4

T 1 I
1] ° GTI-1127
eI e GTI-1125

ROW #37 (0.078 WALL | 671-0205 | i GT1-1126

SHEET)

ROW #39 (0.078 WALL SHEET)
ROW #20 (Q.0625 SHEET)
G1-0388

+ +1
ROW #19
T T 1¢0.0625 SHEET)
GT1-0388
T+ T
Duct Pass- T T )6

Thru Point et
(8 GA)

RON #40 (0.078 WALL SHEET) 1 T GT1-0035 T 1C

:
+
1

™

ROW #4] (0.078 WALL SHEET) } —+ T1[CGl& 1349 | OSL 542 BLOWER
HLY4 ot Yl

1 __Lol

T T \jTl—1242
T T G6T1-0293 H

ROW #42 (0.078 WALL SHEET) { L 4

ROW #21 (0.0625 SHEET)
GT1-0388

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-24 5,000 BPH Heat Reclaimer Enclosure Starting Location

BOTTOM OUTSIDE CATWALK

Enclosure
Start Point

OuTSIDE

ROW #12 €0.078 WALL SHEET

ROW #13 (0.078 WALL SHEET

ROW #14 (0.078 WALL SHEET

ROW #15 (0.078 WALL SHEET)

ROW #16 ¢0.078 WALL SHEET

ROW #17 (0.078 WALL SHEET)

INSIDE

| |ROW #6 (0.078 WALL SHEET)
GT1-0289

iC

iC

| |ROW #7 (0.078 WALL SHEET)
GT1-0289

ROLLED PLENUM CHANNEL
GT1-0447

tROW #8 (0.078 WALL SHEET)
GT1-0289

GT1-0001
1 ] GRAIN EXCHANGER
ROW #18 (SOLID WALL SHEET W/CLEANOUT )t - /
- ‘.
[ - f 1ROW #9 (0.078 WALL SHEET)
GT1-0283
ROW #19 (SOLID WALL SHEETX - 1€
ROW #20 (SOLID WALL SHEETX —+ T 1€
1 | |ROW #10 (0.078 WALL SHEET)
G671-0269
T+ T
W #21 (0.0625 WALL SHEET) 1
~CHANNEL #61- 1C
(10 GA)
- GT1-0001 4
+ + {ROW #11 (0.078 WALL SHEET)
6T1-0283
T T
ROW #23 (0.0625 WALL SHEETY 1+ 1
ROW #24 (0.0625 WALL SHEET)T + 1€
+ + RON #12 €0.078 WALL SHEET)
6T1-0283
ROW #25 (0.0625 WALL SHEET) —+ +1C
CHANNEL #7
ROW #26 (0.0625 WALL SHEET)t = (10 GA) + 4
GT1-0001

ROV #27 (0.0625 WALL SHEET)t +

ROW #28 (0.0625 WALL SHEET)t

tROW #13 (0.078 WALL SHEET)
GT1-0289

iC

LIJH #14 (0.078 WALL SHEET)
GT1-0289

PNEG-2016 Tower Dryer Heat Reclaimer

43



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-25 6,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

ROW #41 (0.078 WALL SHEET)

Duct Pass-
Thru Point

OUTSIDE

ROW #34 (0.0625 WALL SHEET

ROW #35 (0.0625 WALL SHEET

ROW #36 (0.0625 WALL SHEET

ROW #37 (0.0625 WALL SHEET

ROW #38 (0.0625 WALL| SHEET

ROW #39 (0.0625 WALL| SHEET

]

W #40 (0.0625 WALL SHEET)

T

TCHANNEL#10T

)

=

.

=

e

N
[m]

=

C

X
—F

'

=

.

.

L 1 ROW #17 (0.078 WALL SHEET)
GT1-0283

C ] T ROW #18 (0.078 WALL SHEET)
GT1-0283

{41 ROW #19 (0.078 WALL SHEET)
GT1-0283

INSTDE

ROW #42 (0.078 WALL SHEET

ROW #43 (0.078 WALL SHEET)

ROW #44 (0.078 WALL SHEET)

ROW #45 (0.078 WALL SHEET)

ROW #46 (0.078 WALL SHEET)

H H4C
4 £ ROW #20 (0.0625 SHEET)
l GT1-0383
671-0657
TCHANNELATIT T4 A I
(8 GA) 5 ="
FeT-0035 1+t | b __ _ __
6T1-0663 GT1-0872
1 4 |
{ GT1-0664
4 4 1-0203 5 I— GT1-0185
J -1242 £
—_ _Io Ld
-+ + 1C ROW #21 (0.0625 SHEET)
GT1-0383
GTI-1243
=4 =+ c )
-+ -+ GT1-1257
T +1C
TCHANNEL#12T
(8 GA)
T GT1-0035 T G6T1-0186
T i H GTI-1245 o
6TI-1242
T b 671-0293
OSL 600 BLOWER

T \REIVI #22 (0.0625 SHEET)
GT1-0383

L -+ 1 ROW #23 (0.0625 SHEET)
GT1-0383

44

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-26 6,000 BPH Heat Reclaimer Enclosure Starting Location

Enclosure
Start Point

UUTSTOE

ROW #26 (0.0625 WALL SHEET)

ROW #27 (0.0625 WALL SHEET)

ROW #28 (0.0625 WALL SHEET)

ROW #29 (0.0625 WALL SHEET)

ROW #30 (0.0625 WALL SHEET)

ROW #31 (0.0625 WALL SHEET)

ROW #32 (0.0625 WALL SHEET)

ROW #33 (0.0625 WALL SHEET)

ROW #34 (0.0625 WALL SHEET)

1 | ROW #13 (0.078 WALL SHEET)
GT1-0289
+1C
"CHANNEL#8 T
(10 GA)

- GT1-0001 T 1C

- + 1 ROW #14 (0.078 WALL SHEET)
GT1-02889

- +1C

- T+ 1C

- — 1 ROW #15 (0.078 WALL SHEET)
GT1-0283

- +1C

- CHANNEL#9T T

(10 GA)

- GT1-0001-+ 1C

L 4 | ROW #16 (0.078 WALL SHEET)
GT1-0283

- +1C

B | | ROW #17 (0.078 WALL SHEET)
GT1-0283

PNEG-2016 Tower Dryer Heat Reclaimer

45



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-27 7,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Duct Pass-
Thru Point

OUTSIDE

ROW #40 (0.0625 WALL SHEET
GT1-0592

ROW #41 (0.0625 WALL SHEET
GT1-0592

ROW #42 (0.0625 WALL SHEET
GT1-0592

ROW #43 (0.0625 WALL SHEET
GT1-0592

ROW #44 (0.0625 WALL| SHEET
GT1-0592

ROW #45 (0.0625 WALL| SHEET
GT1-0592

W #46 (0.0625 WALL SHEET)
GT1-0592

ROW #47 (0.078 WALL SHEET)
GT1-2142

ROW #48 (0.078 WALL SHEET
GT1-2142

|

1

T

TCHANNEL#1 1~

|
T

1
T

1
T

X

=

we

'~

.

I

-

X

S

X

T

|

1

T

INSIDE
C
ROW #20 (0.078 WALL SHEET)
GT1-0289
C
iC

tC ROW #21 (0.078 WALL SHEET)
GT1-0289

ic  ROW #22 (0.078 WALL SHEET)
GT1-0283

ROW #23 (0.0625 SHEET)
GT1-0383

ROW #48 (0.078 WALL SHEET)
GT1-2142

ROW #50 €0.078 WALL SHEET)
GT1-2142

ROW #51 (0.078 WALL SHEET)
GT1-2142

ROW #52 (0.078 WALL SHEET)
GT1-2142

671-0657
[CHANNEL#12T 1,4 / |
(8 GA) B _—_——— M
rGT1-0035 + 1 {] ehwes | Fmm—mmmmmm————— -
GT1-0872
B T15 GT1-0664 !
| 4 \-0293 GT1-0186
/ -1242 o/_
- _I > o
r +1C ROW #24 (0.0625 SHEET)
— GT1-0383
GT1-1243
-
- 0
| 4 6T1-1257
- T
CHANNEL# 13T
(8 GA)

T GT1-0035 T 6T1-0186
i 1 2% T

| GTI-1 II

&un-mz
r T GT1-0293
OSL 600 BLOWER

C
ROW #25 (0.0625 SHEET)
GT1-0383
ROW #26 (0 0625 SHEET)
'

46

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-28 7,000 BPH Heat Reclaimer Enclosure Starting Location

QUTSIDE INSIDE

ROW #28 (0.0625 WALL SHEET )+
GT1-0592

=+ + ROW #14 €0.078 WALL SHEET)
GT1-0289

ROW #29 (0.0625 WALL SHEET)t + T
GT1-0592
Enclosure
Start Point

“[CHANNEL#8 T

(10 GA)
ROW #30 €0.0625 WALL SHEET)t <+ GT1-0001 T 1€
GT1-0532

-T + 1C ROW #15 €0.078 WALL SHEET)
GT1-0289
ROW #31 (0.0625 WALL SHEET){ + +1C
GT1-0532
ROW #32 (0.0625 WALL SHEET)} T1€
GT1-0592
—+ +1C ROV #16 (0.078 WALL SHEET)
GT1-0289
ROW #33 ¢0.0625 HAIIL SHEET )y + +1C
GT1-0592
- S T CHANNEL#9T

(8 GA)
ROW #34 €0.0625 WAUL |SHEET X + GT1-00351+ 1C
GT1-0592

ROV 435 (0.0625 WAL SHEET) < 1T T TC RO #17 (0.078 WAL SHEET)
GT1-0592 N\ Or1-0288
° : T T E
LADDER CROSSOVER PLATFORM 7 1 ik
ROV #36 (0.065 | | L
WALL SHEET)
GT1-0592 1
1 L dc eow 418 (0.078 wALL SHEET)
6T1-0289
ROW #37 (0.0625 WALL SHEET) T TE
6T1-0582 |

“[CHANNEL#10T

(8 GA)

ROW #38 (0.0625 WALL SHEET)T T gT1-0035 T 1C
GT1-0592

<+ + 4C ROW #19 (0.078 WALL SHEET)
GT1-0289

ROW #39 (0.0625 WALL SHEET){ —+ +1C
GT1-0592

4 + ROW #20 (0.078 WALL SHEET)
GT1-0289

ROW #40 (0.0625 WALL SHEET) { —+ 1
(GT1-0592

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-29 70,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

OUTSIDE

ROW # 44 ( 0.0625 WALL SHEET )
GMN-0592

ROW # 45 ( 0.0625 WALL SHEET)
GM-0592 _

ROW # 46 ( 0.0625 WALL SHEET )
GT-0592

ROW # 47 ( 0.0625 WALL SHEET )
GTI-0592

it

|

voe)
":le TANNVHD

0
[

°
0

T

v

ROW # 53 ( 0.078 WALL SHEET )
GT-0591

Duct Pass-

ROW #48 _%8
LADDER CROSSOVER ( 0.0625 WALL SHEET) | (L]
PLATFORM Gn-0592 \
- = 0 '\.
RoW s 0 \
(0.0625 WALL SHEET) || % ¢
GN-0592 l
0
; ROW #50
( 0.0625 WALL SHEET)
z Gn-0592
m
N
]
d - ! Eg !
> H z
ROW # 51 | #R%
( 0,078 WALL SHEET) 3
an-os91 |l o
ROW # 52 ( 0,078 WALL SHEET)
GN-0591

INSIDE

ROW # 22 ( 0.078 WALL SHEET )
GMN-0707

ROLLED PLENUM
CHANNEL
GMN-0779

ROW # 23 ( 0.078 WALL SHEET)
GMN-0707

HEAT SECTION DOOR

ROW # 24 ( 0.078 WALL SHEET)
GN-0707

SEE TRANSITION DETAIL IN
VERTICAL CHANNEL LAYOUT-10K SHEET

| ROW # 25 ( 0.078 WALL SHEET)
GMN-0707

| ROW # 26 ( 0.078 WALL SHEET )
GT-0707

|
\

Thru Point

ROW # 54 ( 0.078 WALL SHEET )
GT-059

ROW # 55 ( 0.078 WALL SHEET )
GTI-0591

ROW # 56 ( 0.078 WALL SHEET)
GM-0591

PENN BARRY
GSi660 BLOWER

| ROW # 27 ( 0.078 WALL SHEET )
GMN-0707

48

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-30 70,000 BPH Heat Reclaimer Enclosure Starting Location

OUTSIDE INSIDE

BOTTOM OUTSIDE /
CATWALK

ROW # 28
( 0.0625 WALL SHEET )
GT-0592

t
t
—

ROW # 14 ( 0.078 WALL SHEET)
GM-0707

ROW # 29 I
(0.0625 WALL SHEET)
GT-0592 H
18 2 £
ROW # 30 z-
( 0.0625 WALL SHEET ) § -
@T-0592 IS
i ROW # 15 ( 0.078 WALL SHEET )
== @M-0707
e f
ROW # 31 (00625 WALL SHEET) ae e
GT-0592 il
il Gn-oofo
L~

ROW # 32 ( 0.0625 WALL SHEET) [z
GT-0592

T F ROW # 16 ( 0.078 WALL SHEET)
GM-0707

Enclosure rowssioomwausiem 1

Start Point I

ROW # 34 ( 0.0625 WALL SHEET ) a
GT-0592

LE
]

ROW # 17 ( 0.078 WALL SHEET )
@m-0707

2 ROW #35 ( 0.0625 WALL SHEET) | ||-& -
é o292 i EAVE CHANNEL
am-o713
z Il
m
& Il
g ROW #36 ( 00625 WALL SHEET) | || s
LADDER CROSSOVER GT-0592 i i
=2 PLATFORM T 6T-oo10

ROW #18 ( 0.078 WALL SHEET )
GMN-0707

ROW # 37 ( 0.0625 WALL SHEET ) b H
GT-0592

M- E
ROW # 38 ( 0.0625 WALL SHEET) | b =
GT-0592 "g;'g

o ROW # 19 ( 0.078 WALL SHEET)
GMn-o707

ROW #39 R
( 00625 WALL SHEET ) H-
GNI-0592 Il
ROW # 40
(0.0625 WALL SHEET) TONE
GTI-0592 i3 GN-0010
i —d
ROW # 20 ( 0.078 WALL SHEET )
- GT-0707
ROW # 41 ( 0.0625 WALL SHEET )
GT-0592 i E
ROW # 42( 0.0625 WALL SHEET ) IE §= F
GT1-0592 [ 5
IESR"TIA

ROW # 21 ( 0.078 WALL SHEET )
GMN-0707

ROW # 43 ( 0.0625 WALL SHEET )
GMN-0592

ROW # 22 ( 0.078 WALL SHEET )
g GT-0707

ROW # 44 ( 0.0625 WALL SHEET )
GM-0592

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 3: Heat Reclaimer Starting Locations

Figure 3-31 12,000 BPH Heat Reclaimer Duct Pass-Thru Window Starting Location

Outside \

\ Inside

Row #61 (0.0625 wall sheet) ||
(GT1-0592) i

Row #62 (0.0625 wall sheet)| ||
(GT1-0592) ‘
Row #63 (0.078 wall sheet)“L
(GT1-0591) il

| |_(GT1-2055-U and GT1-2055-C)
////

Channel #16 (8 GA)

|
i
|
|

Row #64 (0.078 wall sheet)‘\"”‘ °

(GT1-0591) T

] 11N
Ladder crossover\ |

platform

e Heat section door

Channel #17 (8 GA)

Row #65 mr
(0.078 wall sheet) i
T (GT1-0591) |

‘/ (GT1-2055-U and GT1-2055-C)
|

;\ Reducer walkway
|

support clip

(GT1-0130)
Reducer

Row #66 T
(0.078 wall sheet)
(GT1-0591)

Row #67 (0.0781-
wall sheet)

‘ walkway beam
(GT1-0763)

M i

;{ﬂ

Inner divider hopper

PP 0 00 0 0 0 0 0 0 0 0 0 0 0

i 1l
(GT1-0591) ||| |l (GT1-0783) frine e
i 1 Outer divider
40.672" “ hopper
Row #68 (0.078 wall sheet) TR GT1-0784
(GT1-0591) \ ( )
Row #69 (0.078 wall sheet) “_4 4
(GT1-0591) |
Duct Pass- ?

Thru point ||
Row #70 (0.078 wall sheet) |
(GT1-0591) T

Channel #18 (8 GA)
(GT1-2055-U and GT1-2055-C) il

Row #71 (0.078 wall sheet)
(GT1-0591)

W‘“T/F
T

3
T
¥

Row #72 (0.078 wall sheet)
(GT1-0591)

WL“TKFA
¥

.o dl (GT1-0748)

- Blower

crossbeam-LNG
(GT1-0750)

X

Blower crossbeam clip

— Blower crossbeam-SHT

(GT1-0749)

Blower support clip

-4 (GT1-0185)

Bl

1"

50

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 3: Heat Reclaimer Starting Locations

Figure 3-32 72,000 BPH Heat Reclaimer Enclosure Starting Location

g OUTSIDE
MIDDLE OUTSIDE
CATWALK ROW # 28
( 0.078 WALL SHEET )
GTI-0591

M INSIDE

ROW # 14 ( 0.078 WALL SHEET )
GM-0707

T * 4 | INSIDE cATWALK
5 ROW # 29 AR L~
i ( 0.078 WALL SHEET ) 1
= > -
g 605 | I N — - CHAENNEL #
R 0 vt T I GT1-2053
ROW # 30 ( 0.078 WALL SHEET) (.
GTi-0591
ROW # 31 ( 0.078 WALL SHEET ) Il j
|-, ROW # 15 ( 0.078 WALL SHEET )
GN-0591 I Gn-0707
A GTI-2067
ROW # 32 ( 0.078 WALL SHEET) |
GT1-0591
| A N —
T ROW # 16 { 0.078 WALL SHEET )
| GT-0707
ROW # 33 ( 0.078 WALL SHEET )
GT-0591 e
| all EAVE CHANNEL
2 g GT-o713
ROW # 34 ( 0.078 WALL SHEET ) ';'..g £ D: ' 4
GTI-0591 ’g T
S . ¥ ROW # 17 ( 0.078 WALL SHEET )
2 GN-0707
< ROW # 35 ( 0.078 WALL SHEET ) =Tl
GT1-0591 | I N S
GT1-2067 ] ROLLED PLENUM
T CHANNEL
n H—a M GT1-0779
S ROW # 36 ( 0.078 WALL SHEET ) | S N E—
z GN-0591 i i
Z 1S
m
L o -
i | ROW # 18 ( 0.078 WALL SHEET )
3 ROW #37 ( 0078 WALL SHEET) A GT-0707
2 GT-0591 I e
g 9 ;M“ " GRAIN EXCHANGER
,LE z<
gee EAVE CHANNEL
ROW # 38 Thaglp | Gn-o713
( SOLID WALL SHEET .
| " wrcLeanouT) —
BOTTOM OUTSIDE GT-1177 |\
CATWALK \ A\ Al ROW # 19 ( 0.078 WALL SHEET )
ROW #39 GM-0707
( SOLID WALL SHEET ) 1
GT-0590 b
I GTI-2067
ROW # 40 | A N S
( SOLID WALL SHEET) I i
GT-0590 T
1ot ROW # 20 ( 0.078 WALL SHEET )
| GT-0707
ROW # 41 ( 0.0625 WALL SHEET) g
GN-0592 |
S ROW # 42 ( 0.0625 WALL SHEET) 1T, . . === EAVE CHAINEL
Enclosure sn-o592 1
.
Start Point 953

]

I~

ROW # 43 ( 0.0625 WALL SHEET ) ]g
GT-0592 B

2E

ROW # 44 ( 0.0625 WALL SHEET )
GT1-0592

4

——h

ROW # 21 ( 0.078 WALL SHEET)
GT-0707

|

T ROW # 22 ( 0.078 WALL SHEET )
GM-0707

GTI-2067

PNEG-2016 Tower Dryer Heat Reclaimer

51



NOTES

52

PNEG-2016 Tower Dryer Heat Reclaimer



4 Duct Installation

Topics Covered in this Chapter

= Installing the Duct Pass-Thru Window

= Installing the Duct Elbows

= Installing the Optional Duct Cover

= Assembling the Straight Ducts

= Installing the Top Duct Guard

= Installing the Duct Supports to the Vertical Channels
= Installing the Duct Supports to the Duct Columns

Installing the Duct Pass-Thru Window

The duct pass-thru window passes through the grain column to the center of the cooling chamber, below
the divider hopper.

What You Should Know
Sidewall sheets above and below the duct pass-thru window may need to be removed for access to
brackets and hardware.

1. Align the slots on the duct pass-thru window that are furthest from the edge so they are oriented on
the top and the bottom of the duct pass-thru window when installed.

NOTE: The duct pass-thru windows are cut this way to accommodate for the curvature of the dryer.

PNEG-2016 Tower Dryer Heat Reclaimer

53



Chapter 4: Duct Installation

Figure 4-1 Duct pass-thru top and bottom

L+ _rommorom—s k- iy |

[+ ] N I
S e
18 | Duct pass-thru window (GT1-2204) 89 | Duct window sheet (GT1-2510)
19 | Pass-thru window tab (GT1-2243) 90 | Sidewall sheet
20 | Pass-thru window flashing (GT1-2244)

2. Install the duct pass-thru windows (18) through the sidewalls wall sheets (90).

IMPORTANT: Make sure the holes on the flanges of the duct pass-thru (18) are positioned to line up
with the holes in the duct elbow (45).

3. Install the pass-thru window tabs (19) through the slots in the duct pass-thru window (18).

NOTE: Pass-thru window tabs (19) will be located inside the grain column when installation is
complete.

4. Secure the pass-thru window tabs (19) to the duct pass-thru window (18) using bolt (6) and nut (5).

5. On the outside of the drying walls, install the pass-thru window flashing (20) by inserting the tabs
through the slots in the duct pass-thru window (18).

6. Secure the pass-thru window flashing (20) to the duct pass-thru window (18) with bolts (6) and nuts
(5), making sure the bolt heads are located on the outside of the duct tube.

NOTE:
» The pass-thru window flashing (20) overlaps at each end.

» Caulk (91) on the outside where the pass-through flashing (20) and the Duct pass-thru
window (18) meet to seal any gaps.

7. Fasten the pass-thru window flashing (20), the sidewall sheet (90) and the pass-thru window tabs
(19) together using bolt (6) and nut (5).

NOTE: On the bottom of the pass-thru duct window install the duct window sheet (90) between the
pass-thru window flashing (20) and the sidewall sheet (90).

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 4: Duct Installation

Figure 4-2 Duct pass-thru window

5 | 5/16in. flange nut (S-10268) 20 | Pass-thru window flashing (GT1-2244)
6 | 5/16 x 3/4 in. flange bolt (S-6606) 89 | Duct window sheet (GT1-2510)
18 | Duct pass-thru window (GT1-2204) 91 | Silicone caulk (CH-6873)

19 | Pass-thru window tab (GT1-2243)

PNEG-2016 Tower Dryer Heat Reclaimer

55



Chapter 4: Duct Installation

Installing the Duct Elbows

The duct elbows attach to the duct pass-thru window and the bottom of the duct columns.

Before You Begin

Install the duct pass-thru windows into the dryer prior to installing the duct elbows.

1. Attach the discharge port (46) to the slanted side of the duct elbow (30) using bolts (4) and nuts (8).

. Slide discharge plate (47) into discharge plate port (46).

2

3. Align the duct elbow (30) to the duct pass-thru window (18) and secure using bolts (6) and nuts (5).

4. Install the 40” straight duct section (28) to the duct elbow (30) to using bolts (6) and nuts (5).
NOTE: Install the duct supports (1, 2, 3, and 12) at the same time.

NOTE: One end of the 40" straight duct section assembly has slots. Install the duct section
assembly so that the flange with slots is mating with the duct elbow.

Figure 4-3 Duct elbow installation

1 Lower left duct support (GT1-2380) 12 | Lower right duct support (GT1-2382)

2 | Upper left duct support (GT1-2379) 18 | Duct pass-thru window (GT1-2204)

3 | Upper right duct support (GT1-2381) 28 | 40 in. straight duct section (GT4-1533)
4 | 5/16 x 3/4 in. flange bolt SS (S-8956) 30 | Duct elbow (GT4-1534-BS)

5 | 5/16in. flange nut (S-10268) 45 | Duct elbow package (GT4-1535)

6 | 5/16 x 3/4 in. flange bolt (S-6606) 46 | Discharge port (GT1-0074)

8 | 5/16in. flange nut waxed (S-8452) 47 | Discharge plate (GT1-0075)

56

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 4: Duct Installation

Installing the Optional Duct Cover
The duct covers are available to cover the opening in the event of a static pressure drop.

1. Align the four tabs elbow duct cap tabs (87) to the four holes at the end of the duct pass-thru window
(18).

2. Install the elbow duct cap tabs to the duct pass-thru window (18) using bolts (6) and nuts (5).
3. Install the elbow duct cap (88) to the duct cap tabs (87) using bolts (6) and nuts (5).

Figure 4-4 Duct cover

5 | 5/16 in. flange nut (S-10268) 87 | Elbow duct cap (GT1-2504)
6 | 5/16 x 3/4 in. flange bolt (S-6606) 88 | Elbow duct cap tab (GT1-2505)

PNEG-2016 Tower Dryer Heat Reclaimer

57



Chapter 4: Duct Installation

Assembling the Straight Ducts
The straight duct assemblies are stacked to create the vertical ducts.
1. Place the flat edges of the duct walls (44) to the flanged edges of the duct walls (44) to form a box.

NOTE: Make sure to oriented the duct walls in the same direction when assembling. One end of the
duct walls has slots, while the opposite end has round holes. Always install the duct section
assembly so that the flange with slots is facing down as the ducts are assembled upward.

2. Fasten the duct walls (44) together using bolts (6) and nuts (5).
Figure 4-5 Assembling the duct walls

5 | 5/16in. flange nut (S-10268) 44 | Ductwall (GT1-2371)
6 | 5/16 x 3/4 in. flange bolt (S-6606)

58

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 4: Duct Installation

Installing the Top Duct Guard
The top duct guard will prevent debris from falling into the duct work.
1. Place the top duct guard (29) onto the flanges of the top of the final 40” duct section (28).

2. Fasten the top duct guard (29) to the top of the 40” duct section (28) using bolts (6), washers (31),
and nuts (5).

Tip
Leave out bolts in the locations labeled with callout “A” until installing the duct supports.

Figure 4-6 Top Duct Guard

..
sl 29
7
6
31
S
28— | ‘
‘\ \ 16 ' -
5 | 5/16in. flange nut (S-10268) 29 | Top duct guard (GT1-2371)
6 | 5/16 x 3/4 in. flange bolt (S-6606) 31 | 5/16 x 1-1/2 in. fender washer (S-7569)
28 | 40 in. straight duct section (GT4-1533) A | Duct support bracket locations

PNEG-2016 Tower Dryer Heat Reclaimer

59



Chapter 4: Duct Installation

Installing the Duct Supports to the Vertical Channels

The duct supports connect the duct columns to the vertical channels.

What You Should Know

Vertical channels can vary depending on the dryer model, but the hole spacing should be the same.

1. Install the left and right lower duct supports (1 and 12) to the vertical channel (42) using bolt (7) and

nut (8).

NOTE: Install the bolt head to the inside of the grain column.

2. Locate the left and right upper duct supports (2 and 3) 30 in. above the lower duct supports (1 and

12) on the vertical channel (42).

NOTE: Install the bolt head to the inside of the grain column.

Figure 4-7 Duct supports

TWHRO000CM 15027

1 Lower left duct support (GT1-2380) 8 | 5/16in. flange nut waxed (S-8452)

2 | Upper left duct support (GT1-2379) 12 | Lower right duct support (GT1-2382)
3 | Upper right duct support (GT1-2381) 42 | Vertical channel

7 | 5/16 x 1 in. flange bolt SS (S-7447)

3. Locate the next set of lower duct supports (1 and 12) on the vertical channel (42), 50 in. above the

set of upper duct supports (2 and 3).

NOTE: Install duct supports at every other duct connection.

60

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 4: Duct Installation

Figure 4-8 Duct supports spacing

NS

1 Lower left duct support (GT1-2380) 8 | 5/16in. flange nut waxed (S-8452)

2 | Upper left duct support (GT1-2379) 12 | Lower right duct support (GT1-2382)
3 | Upper right duct support (GT1-2381) 41 | Vertical channel

7 | 5/16 x 1in. flange bolt SS (S-7447) 42 | Vertical channel

PNEG-2016 Tower Dryer Heat Reclaimer

61



Chapter 4: Duct Installation

Installing the Duct Supports to the Duct Columns
The duct supports connect the duct columns to the vertical channels.
What You Should Know

Duct supports are installed at the same time as the square ducts. Install the supports at the elbow duct
first. Work your way up the duct column, installing supports at every other duct connection.

1. Install the left upper and lower duct supports (1 and 2) to the bottom side of the duct flanges on the
left.

2. Install the right upper and lower duct supports (3 and 12) to the bottom side of the duct flanges on
the right.

3. Fasten supports to the duct flanges using bolts (6) and nuts (5).

Figure 4-9 Duct supports to duct locations

1 Lower left duct support (GT1-2380) 6 | 5/16 x 3/4 in. flange bolt (S-6606)

2 | Upper left duct support (GT1-2379) 12 | Lower right duct support (GT1-2382)

3 | Upper right duct support (GT1-2381) 28 | 40 in. straight duct section (GT4-1533)
5 | 5/16 in. flange nut (S-10268) A | Duct support bracket locations

PNEG-2016 Tower Dryer Heat Reclaimer



5 Enclosure Installation

Topics Covered in this Chapter

nstalling the Heat Reclaim Roof Panels

nstalling the Catwalk Clips

nstalling the Enclosure Supports

nstalling the Vertical Supports

nstalling the Short Vertical Supports

nstalling the Enclosure Horizontal Rail

nstalling the Enclosure Wall Sheets

nstalling the Heat Shield Wall for the Ladder Enclosure
nstalling the Vertical Supports to the Heat Shield

Installing the Heat Reclaim Roof Panels

The
1

2.
3.

roof panels attach to the wall sheets and enclose the heat reclaim area.
. Install the ladder roof heat shield (27) to the ladder wall heat shield (26) using bolts (6) and nuts (5).
Install the left roof panel (34) to the enclosure wall (10) using bolts (6) and nuts (5).

Position the enclosure roof flashing (40) between the vertical channels and cut the flashing so it
doesn’t interfere with the ladder roof heat shield (27).

. Install the roof flashing (40) to the dryer screens using a double-nut connection to the existing
horizontal screen seams.

. Attach the ladder roof heat shield (27) to the vertical channel using bolts (4) and nuts (8), except
where the support bracket is located.

NOTE: Use bolt (7) and nut (8) where the ladder roof heat shield (27) overlaps the duct support on
the vertical channel.

. Install the left roof panel (34) to the ladder roof heat shield (27) and the enclosure roof flashing (40)
using bolts (6) and nuts (5).

. Install the right roof panel (37) to the left roof panel (34), the enclosure wall (10), and enclosure roof
flashing (40) using bolts (6) and nuts (5).

PNEG-2016 Tower Dryer Heat Reclaimer 63



Chapter 5: Enclosure Installation

Figure 5-1 Heat reclaim roof panels

TWHRO000CM15025

4 | 5/16 x 3/4 in. flange bolt SS (S-8956) 8 | 5/16in. flange nut waxed (S-8452)
5/16 in. flange nut (S-10268) 10 | Enclosure wall sheet (see parts)

° 5/16 in. flange nut waxed (S-8452)* 27 | Ladder roof heat shield (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 34 | Left roof panel (see parts)

° 5/16 x 3/4 in. flange bolt SS (S-8956)* 37 | Right roof panel (see parts)

7 | 5/16 x 1in. flange bolt SS (S-7447) 40 | Enclosure roof flashing (see parts)

* Use for stainless steel heat reclaimers.

64

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Catwalk Clips

The catwalk clips connect the enclosure supports to the vertical channels.

1. Locate the first catwalk clip (35) above the set of lower duct supports (1 and 12) that are located

closest to the enclosure roof flashing (40).

2. Working your way down the vertical channel (41), space the remaining catwalk clips (35) six holes

apart.

3. Secure the catwalk clips (35) to the vertical channels (41) using bolts (8) and nuts (7).

Figure 5-2 Catwalk clips

2=z
~& <2 / ‘ ﬂ
T '
© ‘ 1 B
7
| .
| " 41 ) i
) ;,/?‘ ‘ ,____::r::::::::lfh-:s:z-
: L 35 \
‘,,
@ o ‘u
2\ 3
»,‘ / | 41 -
1 Lower left duct support (GT1-2380) 8 | 5/16 in. flange nut waxed (S-8452)
2 | Upper left duct support (GT1-2379) 12 | Lower right duct support (GT1-2382)
3 | Upper right duct support (GT1-2381) 35 | Catwalk clip (see parts)
7 | 5/16 x 1 in. flange bolt SS (S-7447) 41 | Vertical channel

PNEG-2016 Tower Dryer Heat Reclaimer

65



Chapter 5: Enclosure Installation

Installing the Enclosure Supports

The horizontal and angle enclosure supports connect the vertical supports for the enclosure to the vertical
channels.

What You Should Know

NOTE: Enclosure supports are not to be installed above the catwalks to ensure there is enough head
clearance. They are also not to be installed wherever there is a heat shield wall.

1. Position the angle tie straps (25) to the inside of the enclosure horizontal support (21), lining up the
holes with the inside set of holes on the catwalk clip (35).

2. Fasten the angle tie straps (25) and the enclosure horizontal support (21) to the catwalk clip (35)
using bolts (6) and nuts (5).

3. Align the enclosure angle support (23) with the inside set of holes on the catwalk clip (35).
4. Fasten the enclosure angle support (23) to the catwalk clip (35) using bolts (6) and nuts (5).

5. Align the enclosure angle support (23) with the inside set of holes at the end of the enclosure
horizontal support (21).

6. Fasten the enclosure angle support (23) to the enclosure horizontal support (21) using bolts (6) and
nuts (5).

7. Fasten the angle tie straps (25) to the outside of the enclosure angle support (23) using bolts (6) and
nuts (5).

66

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Figure 5-3 Enclosure supports

48
| N
5 /fj/'
-
5/16 in. flange nut (S-10268) 21 | Enclosure horizontal support (see parts)
5
5/16 in. flange nut waxed (S-8452)* 23 | Enclosure angle support (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 25 | Angle tie strap (see parts)
6
5/16 x 3/4 in. flange bolt SS (S-8956)* 35 | Catwalk clip (see parts)
* Use for stainless steel heat reclaimers.

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Vertical Supports
The vertical supports connect the horizontal rails and enclosure walls.
What You Should Know

The vertical support will be off to one side on the enclosure support. This chosen direction should be held
consistently around the circumference of the dryer.

1. Align the top set of slots in the enclosure vertical supports (24).

2. Align the middle slot with the hole at the end of the enclosure horizontal supports (21) and fasten
using bolt (6) and nuts (5).

3. Connect the enclosure vertical supports (24) together by aligning the ends and overlapping the
seam with the vertical rail splices (38).

4. Align all the holes and connect together using bolts (6) and nuts (5).

5. Continue until the enclosure vertical supports (24) have been connected to all the enclosure
horizontal supports (21).

Figure 5-4 Vertical supports

I‘ ‘ 24\r
—_— |I 24 , ) ‘
\ ’ A
E— Y s /g [ '
f \gf\KE [ s
e ) ’:/ B
21 | 24 Lo
o‘ " 3
d ‘___‘
¥ 24
N !
24—
e
5/16 in. flange nut (S-10268) 21 | Enclosure horizontal support (see parts)
5
5/16 in. flange nut waxed (S-8452)* 24 | Enclosure vertical support (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 38 | Vertical rail splice (see parts)
6
5/16 x 3/4 in. flange bolt SS (S-8956)*

* Use for stainless steel heat reclaimers.

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Short Vertical Supports

The short vertical supports are only used when there is an odd number of enclosure wall sheet rings. The
standard vertical supports span two enclosure wall sheets and the short vertical support only spans one
enclosure wall sheet. These are only used in GT4-1590, GT4-1587, and GT4-1583.

What You Should Know

The vertical support will be off to one side on the enclosure support. This chosen direction should be held
consistently around the circumference of the dryer.

1. Align the top set of slots in the enclosure vertical supports (24).

2. Align the middle slot with the hole at the end of the enclosure horizontal supports (21) and fasten
using bolt (6) and nuts (5).

3. Align the middle slot of the enclosure short horizontal supports (86) with the hole at the end of the
enclosure horizontal supports (21) and fasten using bolt (6) and nuts (5).

4. Connect the enclosure vertical supports (24) and the enclosure short horizontal supports (86)
together by aligning the ends and overlapping the seam with the vertical rail splices (38).

5. Align all the holes and connect together using bolts (6) and nuts (5).

PNEG-2016 Tower Dryer Heat Reclaimer

69



Chapter 5: Enclosure Installation

Figure 5-5 Enclosure short vertical supports

1l 24_|
> -< 71
b |
i

5/16 in. flange nut (S-10268) 21 | Enclosure horizontal support (see parts)
> 5/16 in. flange nut waxed (S-8452)* 24 | Enclosure vertical support (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 38 | Vertical rail splice (see parts)
® 5/16 x 3/4 in. flange bolt SS (S-8956)* 86 | Enclosure short vertical support (see parts)

* Use for stainless steel heat reclaimers.

70

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 5: Enclosure Installation

Installing the Enclosure Horizontal Rail
The enclosure horizontal rail connects to the vertical supports to support the enclosure walls.

1. Align the enclosure horizontal rails (43) in the 10th hole down from the top of the enclosure vertical
supports (24).

2. Install the enclosure horizontal rails (43) to the inside of the enclosure vertical supports (24) using
bolts (6) and nuts (5).

3. Install the remaining enclosure horizontal rails (43) spaced nine vertical holes apart.

Figure 5-6 Enclosure horizontal rail

5/16 in. flange nut (S-10268) 24 | Enclosure vertical support T (see parts)
° 5/16 in. flange nut waxed (S-8452)* 43 | Enclosure horizontal rail (see parts)
5/16 x 3/4 in. flange bolt (S-6606)
° 5/16 x 3/4 in. flange bolt SS (S-8956)*

* Use for stainless steel heat reclaimers.

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Enclosure Wall Sheets
The enclosure wall sheets make up the main body of the heat reclaimer.
1. Install the enclosure wall sheets (10) starting from the top.
2. Align the enclosure wall sheets (10) with the top most enclosure horizontal rail (43).

3. Install the enclosure wall sheets (10) to the enclosure horizontal rail (43) and enclosure vertical
supports (24) using bolts (6) and nuts (5).

4. Overlap and fasten the next enclosure wall sheet (10) to the enclosure horizontal rail (43) and
enclosure vertical supports (24) using bolts (6) and nuts (5).

NOTE: The enclosure wall sheets overlap only on the horizontal seams.
5. Continue until all enclosure wall sheets (10) are installed.

Figure 5-7 Enclosure wall sheets

|l
| TWHRO00CM15024

5/16 in. flange nut (S-10268) 10 | Enclosure wall sheet - (see parts)
> 5/16 in. flange nut waxed (S-8452)* 24 | Enclosure vertical support (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 43 | Enclosure horizontal rail (see parts)
6 5/16 x 3/4 in. flange bolt SS (S-8956)*

* Use for stainless steel heat reclaimers.

72

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Heat Shield Wall for the Ladder Enclosure
An enclosure heat shield will be installed where a ladder or catwalk exists inside the heat enclosure area.

1. Install the catwalk support clip (15) to the vertical channel (41) above the lower right duct support
(12) using bolts (9) and nuts (33).

2. Install the ladder wall heat shield (26) to the vertical channels (41) using bolts (8) and nuts (4) in all
locations except for where the catwalk-platform bracket (13) is installed.

NOTE: Install the bolt heads to the inside of the grain column. The upper right duct support (3) is
installed between the ladder wall heat shield (26) and the vertical channel (42) using bolt (7)
and nut (8).

3. Install the catwalk-platform bracket (13) to the ladder wall heat shield (26) and vertical channel (41)
using bolts (9) and nuts (10).

NOTE: Install the bolt heads from the catwalk-platform bracket (13) side.

Figure 5-8 Ladder wall heat shield to vertical channel

/
7
G

41
42

33

ol
B\:\

\\ﬁ’\"\:p
el

9 .
A 26
e

2
3 | Upper right duct support (GT1-2381) 13 | Catwalk-platform bracket
4 | 5/16 x 3/4 in. flange bolt SS (S-8956) 15 | Catwalk support clip
7 | 5/16 x 1in. flange bolt SS (S-7447) 26 | Ladder wall heat shield (see parts)
8 | 5/16 in. flange nut waxed (S-8452) 33 | 3/8in. flange nut LRG (S-968)
9 | 3/8-16 x 1 in. flange bolt (S-7485) 41 | Vertical channel
12 | Lower right duct support (GT1-2382)

PNEG-2016 Tower Dryer Heat Reclaimer

73



Chapter 5: Enclosure Installation

4. Install the inner toeboard (32) to the catwalk-platform bracket (13) using bolt (9) and nut (33) through
the top hole.

5. Install the plank (11) and the inner toeboard (32) to the catwalk-platform bracket (13) using bolts (9)
and nuts (33).

Figure 5-9 Catwalk to vertical channel connections

|| ®

TWHRO000CM15012

9 | 3/8 x 1in. flange bolt (S-7485) 32 | Innertoeboard - 12, 18, 24 and 30 ft outside
11 | 18, 24 and 30 ft. plank catwalk / platform 33 | 3/8in. flange nut LRG (S-968)
13 | Catwalk-platform bracket

74

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

6. Install the gate stop plate (16) to the plank (11) using bolts (9) and nuts (33).
7. Install the outside to inside catwalk support (14) to the plank (11) and the catwalk support clip (15)

using bolts (9) and nuts (33).

Figure 5-10 Catwalk support

9 | 3/8 x 1in. flange bolt (S-7485) 15 | Catwalk support clip
11 | 18, 24 and 30 ft. plank catwalk / platformk 16 | Gate stop plate
14 | Outside to inside catwalk support 33 | 3/8in. flange nut LRG (S-968)

PNEG-2016 Tower Dryer Heat Reclaimer

75



Chapter 5: Enclosure Installation

8. Install the end toeboard (17) to the plank (11) and inner toeboard (32) using bolts (9) and nuts (33).
NOTE: Install the head of the bolts to the inside of the platform.
Figure 5-11 Catwalk toeboards

TWHR000CM15014

9 | 3/8 x 1in. flange bolt (S-7485) 26 | Ladder wall heat shield (see parts)
11 | 18, 24 and 30 ft. plank catwalk / platform 32 | Innertoeboard - 12, 18, 24 and 30 ft outside
17 | Platform end toeboard 33 | 3/8in. flange nut LRG (S-968)

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

9. Install the next ladder wall heat shield (26) to the previous ladder wall heat shield (26) using bolts (6)
and nuts (5).

10.Attach the ladder wall heat shield (26) to the vertical channels (41) using bolts (4) and nuts (8)
except where the duct support is located.

NOTE: Use bolt (7) and nut (8) in the hole where the duct support is located.
Figure 5-12 Ladder wall heat shield panel

4 | 5/16 x 3/4 in. flange bolt SS (S-8956) 7 | 5/16 x 1 in. flange bolt SS (S-7447)
5/16 in. flange nut (S-10268) 8 | 5/16in. flange nut waxed (S-8452)

> 5/16 in. flange nut waxed (S-8452)* 26 | Ladder wall heat shield (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 41 | Vertical channel

® 5/16 x 3/4 in. flange bolt SS (S-8956)*

* Use for stainless steel heat reclaimers.

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 5: Enclosure Installation

Installing the Vertical Supports to the Heat Shield

The vertical supports must be installed to the heat shield wall where there is a ladder or catwalk.

1. Place the ladder wall heat shield (26) between the enclosure vertical supports (24).

NOTE: You can install the heat shield to one side of the supports as long as it is maintained
consistently around the circumference of the dryer.

2. Align the slots in the enclosure vertical supports (24) with the middle set of holes in the ladder wall

heat shield (26).

3. Align the middle slot with the hole at the end of the enclosure horizontal support (21) and fasten

using bolt (6) and nuts (5).

4. Align the enclosure vertical supports ends (24) with the vertical rail splices (38) on each side of the

ladder wall heat shield (26).

5. Connect the vertical rail splices (38), the enclosure vertical supports (24), and the ladder wall heat

shield (26) using bolts (6) and nuts (5).

6. Continue until the enclosure vertical supports (24) have been connected to all the enclosure
horizontal supports (21) and ladder wall heat shields (26).

Figure 5-13 Ladder wall heat shield and vertical supports

6 {lsb—E " ®
\v’/i e '
: o4
24— , '
26
1, ie--—-- s
2 g el g Y
WE#%///%:” =S
o I e e 5
@: : ,48 - 38
6 |
26
B o I
i

L

TN 27

41 T T4

|

=
ee ee

1
[\ Co—

U

|

il

i
|
I

5/16 in. flange nut (S-10268) 24 | Enclosure vertical support
° 5/16 in. flange nut waxed (S-8452)* 26 | Ladder wall heat shield (see parts)
5/16 x 3/4 in. flange bolt (S-6606) 27 | Ladder roof heat shield (see parts)
® 5/16 x 3/4 in. flange bolt SS (S-8956)* 38 | Vertical rail splice (see parts)

21 | Enclosure horizontal support (see parts)

* Use for stainless steel heat reclaimers.

78

PNEG-2016 Tower Dryer Heat Reclaimer



6 Heat Reclaim Parts

Topics Covered in this Chapter

= Parts List

Parts List

NOTE: For a stainless steel heat reclaim, add "-SS" to the end of the base numbers that are highlighted
with an asterisk "*".

Table 6-1 Duct assembly

Iltem Part Description
GT1-2380 Lower Left Duct Support
1 GT1-2496 Lower Left Duct Support - (1200-1500 BPH)
GT1-2379 Upper Left Duct Support
2 GT1-2495 Upper Left Duct Support - (1200-1500 BPH)
GT1-2381 Upper Right Duct Support
° GT1-2497 Upper Right Duct Support - (1200-1500 BPH)
4 S-8956 Flange Bolt 5/16 x 3/4 in. SS
5 S-10268 Flange Nut 5/16 in. JS500 Grade 5
6 S-6606 Flange Bolt 5/16 x 3/4 in. ZN Grade 5
7 S-7447 Flange Bolt 5/16 x 1 in. SS (Full Thread)
8 S-8452 Flange Nut 5/16 in. SS Waxed (Must be Waxed)
9 S-7485 Flange Bolt 3/8 x 1 in. JS500 Grade 8 or 8.2
GT1-2187 12 ft. Enclosure Wall Sheet
10° GT1-1450 18 ft. Enclosure Wall Sheet
GT1-1269 24 ft. Enclosure Wall Sheet
GT1-1269-30 30 ft. Enclosure Wall Sheet
11 GT1-2033 18, 24 and 30 ft. Plank Catwalk / Platform
GT1-2382 Lower Right Duct Support
12 GT1-2498 Lower Right Duct Support - (1200-1500 BPH)
13 GT1-2036 Bracket, Catwalk/Platform To Dryer Wall
14 GT1-2039-BS Support, Outside/Inside Catwalk
15 GT1-2040-BS Clip, Catwalk Support - Bin Silver
16 GT1-2091 Plate, Swing Gate Stop
17 GT1-2095 End Toeboard, Platform

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 6: Heat Reclaim Parts

Table 6-1 Duct assembly (cont'd.)

Item Part Description
18 GT1-2204 Duct Pass-Thru Window
19 GT1-2243 Pass-Thru Window Tab
20 GT1-2244 Pass-Thru Window Flashing
89 GT1-2510 Duct Window Sheet
90 NA Sidewall Sheet
91 CH-6873 Silicone Caulk
Table 6-2 Enclosure support assembly
Item Part Description
. GT4-1514 Enclosure Support (1 Count)
48 GT4-1509 12 ft. Enclosure Support (1 Count) - (1200-1500 BPH)
. GT1-2246 Enclosure Horizontal Support
21 GT1-2199 12 ft. Enclosure Horizontal Support
. GT1-2247 Enclosure Angle Support
2 GT1-2198 12 ft. Enclosure Angle Support
25* | GT1-2249 Angle Tie Strap
35* | 801-2020-7 Catwalk Clip
GT1-2238 12 ft. Enclosure Vertical Support
. GT1-2248 18 ft. Enclosure Vertical Support
24 GT1-1266 24 ft. Enclosure Vertical Support
GT1-1266-30 30 ft. Enclosure Vertical Support
. GT1-2511 12 ft. Enclosure Short Vertical Support
% GT1-2512 18 ft. Enclosure Short Vertical Support
- GT1-2298 Ladder Wall Heat Shield
GT1-2325 12 ft. Ladder Wall Heat Shield
o7 GT1-2299 Ladder Roof Heat Shield
GT1-2326 12 ft. Ladder Roof Heat Shield
28 GT4-1533 40 in. Straight Duct Section
44 GT1-2371 Duct Wall
29 GT1-2372 Top Duct Guard
30 GT4-1535 Duct Elbow Package
45 GT4-1534-BS Duct Elbow
46 GT1-0074 Port, Discharge
47 GT1-0075 Plate, Discharge
31 S-7569 Fender Washer 5/16 x 1-1/2 in. ZN
32 GT1-2035 Inner Toeboard - 12, 18, 24 and 30 ft. Outside
33 S-968 Flange Nut LRG 3/8 in. ZN Grade 5

80

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 6: Heat Reclaim Parts

Table 6-2 Enclosure support assembly (cont'd.)

GT1-2189L Left Roof Panel - 12 ft. Enclosure

e GT1-1446L Left Roof Panel - 18 ft. Enclosure
GT1-1264L Left Roof Panel - 24 ft. Enclosure
GT1-1264-30L Left Roof Panel - 30 ft. Enclosure
GT1-2189R Right Roof Panel - 12 ft. Enclosure

. GT1-1446R Right Roof Panel - 18 ft. Enclosure

37 GT1-1264R Right Roof Panel - 24 ft. Enclosure
GT1-1264-30R Right Roof Panel - 30 ft. Enclosure

38* | GT1-1267 Vertical Rail Splice

39 GT1-0001 Vertical Channel - 80 in. 10 Gauge
GT1-2188 Enclosure Roof Flashing - 12 ft.

. GT1-1445 Enclosure Roof Flashing - 18 ft.

40 GT1-1263 Enclosure Roof Flashing - 24 ft.
GT1-1263-30 Enclosure Roof Flashing - 30 ft.

41 GT1-0205 Vertical Channel - 40 in.

42 GT1-0035 Vertical Channel - 80 in. 8 Gauge
GT1-2221 12 ft. Enclosure Horizontal Ralil

A3+ GT1-1449 18 ft. Enclosure Horizontal Ralil
GT1-1268 24 ft. Enclosure Horizontal Rail
GT1-1268-30 30 ft. Enclosure Horizontal Rail

88 GT1-2504 Elbow Duct Cap

87 GT1-2505 Elbow Duct Cap Tab

B NA Leave hole open until later.

PNEG-2016 Tower Dryer Heat Reclaimer

81



NOTES

82

PNEG-2016 Tower Dryer Heat Reclaimer



7 Appendix

Topics Covered in this Chapter

= Dryer Dimensions

PNEG-2016 Tower Dryer Heat Reclaimer

83



Chapter 7: Appendix

Dryer Dimensions
Figure 7-1 Dryer dimensions - Models 1575 and 2018

————— 204" ———>

|—20"-5" ———»
|——12'—— —12'—p
59'-5" Il 76-1"
G
|~
F \
/ 58'-6" ] ‘ | .|
41' £ b [ i T F
N . m“ L~
36-10" : & T
46' if i B |- | R E
N\ N\ \ ;
41'-10" ‘
. o —\ \ ]
L -
20'—7" ; L=] L SN 25I_6|I
N {7 —° 0
17'-4" 22'-4" a
E-l ﬁ\! T '_]| 16'-5" _f‘: @ IR FEE
| \ I | N
0N 174 ;
= = W 107 N T~ B
_.: \: r\: ] k=] ‘ B [}
/ % i I |
i ' .
OII 0"
Model 1575 Model 2018
Callout Description
Standard cool section platform and optional catwalk conversion package
B Standard cool section platform #2
C Optional catwalk
D Heat reclaim ducts
E Standard heat section platform hidden inside the enclosure
F Standard catwalk #1
G Standard catwalk #2

84

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 7: Appendix

Figure 7-2 Dryer dimensions - Models 2420 and 3531

20'-4" ) 251" ————p
l—12'— — 18—
861" ﬁ 864"
/ "
68'-6" I 1 |
- G I ! ;
/ 64'-7"—&’55\55555:555555 T Mz osfzaggziit
58'_11" \E\\ E {QI |3I: I Bl E F
o i@ Fa T ol F
49'_4" R F:t: | T it | ™ ‘E ;
( 46'-3" — ] ﬁ'\
42'-5" e AN
E 38-9" A AN E
28'-10"
25"8" 1 /g / D 26I-8" (_
i y :% D
20-10" -
19_4 i i\lli El i E|
\ ol & 1 1l I
[if C 13‘-4" i H: I I H s'se zls V‘K
11' éeéheke‘haee | ! A
] e ] N o om [l o®m 2
P i o ©
Ou % ) i 0" L Ll |
Model 2420 Model 3531
Callout Description
Standard cool section platform and optional catwalk conversion package
B Standard cool section platform #2
C Optional catwalk
D Heat reclaim ducts
E Standard heat section platform hidden inside the enclosure
F Standard catwalk #1
G Standard catwalk #2
H Standard catwalk #3

PNEG-2016 Tower Dryer Heat Reclaimer




Chapter 7: Appendix

Figure 7-3 Dryer dimensions - Models 4036 and 4742

4—25"1"—> <—25|_1n—>
e——18'—»] —18'—»
96"4" 1 09I_8|I
LLANNS ZL )
y H
|1 r BESiE S==
! 90’
77'_1" T EE!\E\EE ‘E H% FEEEE THI \ }
G - G
=0 e
66'-3" /ﬂ 76'-3 ,\ /g
\ F F
II | Eﬁ . i e n/
55"5" & E“EEH\ i , S 62'-6" Kiﬁiiiii\w?’l“i /ﬁ
o E| e
48'-9 7 ~ 55-5 Z 77 NN
E E
/
33-4"
26'-8" 3gqr —— H~7 —— D
1an 4_ ‘_ ..A//—- D
24 -3 T 0 E | 1
Pl I T T 24"4"‘&“‘5 ”“B\“”'”” /£\
i I
il il /g\ c
12-11" "ﬂkf\ 5 : ]
A PN PN PN 126 A ™ B
31 k-4 }ﬁ k-3 M i3 g
NP =l
; |
Ou L] L O"
Model 4036 Model 4742
Callout Description
B Standard cool section platform #2
C Optional catwalk
D Heat reclaim ducts
E Standard heat section platform hidden inside the enclosure
F Standard catwalk #1
G Standard catwalk #2
H Standard catwalk #3

86

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 7: Appendix

Figure 7-4 Dryer dimensions - Models 5046 and 7000

94'-10"

-« 314" —————— I e A——
————24'— > ——24'—»
123'-6"
i e e H
G T I ﬁm T
102-5" — Bt e it
1 L ntatl ©
i i 7 S|
89" 11" — et _“."ﬂ: Hin o

F 77'-5" — i) “ HIF w m R

4
i ] j i
53‘—4"—5 E!EE‘ ¥ ] “EEEQEQ]'E:L E. ’}EEE i [T T
N z/ 67!_5" / / \
48'-10 = <
E
E
38'-8" = | 5
26!_9" - 5 34v_7|v L)
L I Sk
20-11" I 47/7 7 — 27'_11"%: o w3 s 3 LA
C
129" E[zlﬁ ‘ 18'-8" S T~ B
; ” " | - i 1 k- B B B 3 11
1 I/
O" 4L OII d L
Model 5046 Model 7000
Callout Description
A Standard cool section platform and optional catwalk conversion package
B Standard cool section platform #2
C Optional catwalk
D Heat reclaim ducts
E Standard heat section platform hidden inside the enclosure
F Standard catwalk #1
G Standard catwalk #2
H Standard catwalk #3

PNEG-2016 Tower Dryer Heat Reclaimer



Chapter 7: Appendix

Figure 7-5 Dryer dimensions - Model 7060

— 314" ——»
——24' ——p
118'-2"
3 f H
L 1 : i il
97'1 — ik iR § i llz EEE B G
. =0 7 T
84'7 EiieMi i § ¢ @ B[S ¥ & I 31l F
14
1
|
¥ HF oo
72-1—% s
62-1" =7 77 ] AN
E
33-4" : ,
29I_3|I ) ﬁ__ D
. I =izl
22'-7 i i c
]
13'-4" i o B
I%I |
OII B I
Model 7060
Callout Description
B Standard cool section platform #2
C Optional catwalk
D Heat reclaim ducts
E Standard heat section platform hidden inside the enclosure
F Standard catwalk #1
G Standard catwalk #2
H Standard catwalk #3

88

PNEG-2016 Tower Dryer Heat Reclaimer



Limited Warranty — N.A. Grain Products

The GSI Group, LLC. (“GSI”) warrants products which it manufactures, to be free of defects in materials and workmanship
under normal usage and conditions for a period of 12 months from the date of shipment (or, if shipped by vessel, 14
months from the date of arrival at the port of discharge). If, in GSI’s sole judgment, a product is found to have a defect in
materials and/or workmanship, GSI will, at its own option and expense, repair or replace the product or refund the
purchase price. This Limited Warranty is subject to extension and other terms as set forth below.

Warranty Enhancements: The warranty period for the following products is enhanced as shown below and is in
lieu of (and not in addition to) the above stated warranty period. (Warranty Period is from date of shipment.)

Product Warranty Period
Grain Bin Structural Design
Storage = Sidewall, roof, doors, platforms and walkarounds 5y,
9 = Flooring (when installed using GSI specified floor support system for that floor) ears
= Hopper tanks (BFT, GHT, NCHT, and FCHT)
Dryer Structural Design — (Tower, Portable and TopDry) 5y,
= Includes (frame, portable dryer screens, ladders, access doors and platforms) ears
. All other Dryer parts including: 2V,
Conditioning | . Ejectrical (controls, sensors, switches and internal wiring) ears
All Non-PTO Driven Centrifugal and Axial Fans 3 Years
Bullseye Controllers 2 Years
Bucket Elevators Structural Design 5 Years
Material Towers Structural Design 5 Years
Handling Catwalks Structural Design 5 Years
Accessories (stairs, ladders and platforms) Structural Design 5 Years

Conditions and Limitations:

THERE ARE NO WARRANTIES THAT EXTEND BEYOND THE LIMITED WARRANTY DESCRIPTION SET FORTH
HEREIN; SPECIFICALLY, GSI DISCLAIMS ANY AND ALL OTHER WARRANTIES OF ANY KIND, EXPRESS OR
IMPLIED, INCLUDING, WITHOUT LIMITATION, WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A
PARTICULAR PURPOSE OR USE IN CONNECTION WITH: (I) ANY PRODUCT MANUFACTURED OR SOLD BY GSI,
OR (II) ANY ADVICE, INSTRUCTION, RECOMMENDATION OR SUGGESTION PROVIDED BY AN AGENT,
REPRESENTATIVE OR EMPLOYEE OF GSI REGARDING OR RELATED TO THE CONFIGURATION, INSTALLATION,
LAYOUT, SUITABILITY FOR A PARTICULAR PURPOSE, OR DESIGN OF SUCH PRODUCTS.

The sole and exclusive remedy for any claimant is set forth in this Limited Warranty and shall not exceed the amount paid
for the product purchased. This Warranty only covers the value of the warranted parts and equipment, and does not cover
labor charges for removing or installing defective parts, shipping charges with respect to such parts, any applicable sales
or other taxes, or any other charges or expenses not specified in this Warranty. GSI shall not be liable for any other direct,
indirect, incidental or consequential damages, including, without limitation, loss of anticipated profits or benefits. Expenses
incurred by or on behalf of a claimant without prior written authorization from the GSI warranty department shall not be
reimbursed. This warranty is not transferable and applies only to the original end-user. GSI shall have no obligation or
responsibility for any representations or warranties made by or on behalf of any dealer, agent or distributor. Prior to
installation, the end-user bears all responsibility to comply with federal, state and local codes which apply to the location
and installation of the products.

This Limited Warranty extends solely to products sold by GSI and does not cover any parts, components or materials used in conjunction with the
product, that are not sold by GSI. GSI assumes no responsibility for claims resulting from construction defects, unauthorized modifications,
corrosion or other cosmetic issues caused by storage, application or environmental conditions. Modifications to products not specifically
delineated in the manual accompanying the product at initial sale will void all warranties. This Limited Warranty shall not extend to products or
parts which have been damaged by negligent use, misuse, alteration, accident or which have been improperly/inadequately maintained.

Notice Procedure:

In order to make a valid warranty claim a written notice of the claim must be submitted, using the RMA form, within 60 days of discovery of a
warrantable nonconformance. The RMA form is found on the OneGSI portal.

Service Parts:

GSl warrants, subject to all other conditions described in this Warranty, Service Parts which it manufactures for a period of 12 months from the
date of purchase unless specified in Enhancements above.

(Limited Warranty - N.A. Grain Products_ revised 01 October 2020)




This equipment shall be installed in accordance with
the current installation codes and applicable
regulations which should be carefully followed in all
cases. Authorities having jurisdiction should be
consulted before installations are made.

1004 E. lllinois St.
Assumption, IL 62510-0020
Phone: 1-217-226-4421
Fax: 1-217-226-4420
www.gsiag.com

QYAAGCD

Your Agriculture Company

Copyright © 2020 by The GSI Group, LLC

Printed in the USA

CN #347316



	Installation Manual 
	Chapter 1 Safety Precautions 
	Safety Guidelines 
	Cautionary Symbol Definitions 
	Safety Cautions 
	Safety Sign-off Sheet 

	Chapter 2 Duct Specifications 
	Duct Specifications 

	Chapter 3 Heat Reclaimer Starting Locations 
	Heat Reclaimer Starting Locations 

	Chapter 4 Duct Installation 
	Installing the Duct Pass-Thru Window 
	Installing the Duct Elbows 
	Installing the Optional Duct Cover 
	Assembling the Straight Ducts 
	Installing the Top Duct Guard 
	Installing the Duct Supports to the Vertical Channels 
	Installing the Duct Supports to the Duct Columns 

	Chapter 5 Enclosure Installation 
	Installing the Heat Reclaim Roof Panels 
	Installing the Catwalk Clips 
	Installing the Enclosure Supports 
	Installing the Vertical Supports 
	Installing the Short Vertical Supports 
	Installing the Enclosure Horizontal Rail 
	Installing the Enclosure Wall Sheets 
	Installing the Heat Shield Wall for the Ladder Enclosure 
	Installing the Vertical Supports to the Heat Shield 

	Chapter 6 Heat Reclaim Parts 
	Parts List 

	Chapter 7 Appendix 
	Dryer Dimensions 





